NUMERICALLY AIDED DESIGN PROCESS FOR PIANO KEY WEIRS

A THESIS SUBMITTED TO THE GRADUATE SCHOOL OF NATURAL AND APPLIED SCIENCES OF MIDDLE EAST TECHNICAL UNIVERSITY

BY

SERHAN ADEMOĞLU

IN PARTIAL FULFILLMENT OF THE REQUIREMENTS FOR THE DEGREE OF MASTER OF SCIENCE IN CIVIL ENGINEERING

SEPTEMBER 2019

Approval of the thesis:

NUMERICALLY AIDED DESIGN PROCESS FOR PIANO KEY WEIRS

submitted by SERHAN ADEMOĞLU in partial fulfillment of the requirements for the degree of Master of Science in Civil Engineering Department, Middle East Technical University by,

Prof. Dr. Halil Kalıpçılar Dean, Graduate School of Natural and Applied Sciences	
Prof. Dr. Ahmet Türer Head of Department, Civil Engineering	
Prof. Dr. Mete Köken Supervisor, Civil Engineering, METU	
Prof. Dr. İsmail Aydın Co-Supervisor, Civil Engineering, METU	
Examining Committee Members:	
Prof. Dr. Ali Melih Yanmaz Civil Engineering, METU	
Prof. Dr. Mete Köken Civil Engineering, METU	
Prof. Dr. İsmail Aydın Civil Engineering, METU	
Prof. Dr. Zafer Bozkuş Civil Engineering, METU	
Assoc. Prof. Dr. Ender Demirel Civil Engineering, Eskişehir Osmangazi University	

Date: 09.09.2019

I hereby declare that all information in this document has been obtained and presented in accordance with academic rules and ethical conduct. I also declare that, as required by these rules and conduct, I have fully cited and referenced all material and results that are not original to this work.

Name, Surname: Serhan Ademoğlu

Signature:

ABSTRACT

NUMERICALLY AIDED DESIGN PROCESS FOR PIANO KEY WEIRS

Ademoğlu, Serhan Master of Science, Civil Engineering Supervisor: Prof. Dr. Mete Köken Co-Supervisor: Prof. Dr. İsmail Aydın

September 2019, 59 pages

Piano Key weirs are recently developed hydraulic structures and provide valuable benefits in discharge efficiency and dam safety. This new type of labyrinth weir is an excellent alternative for traditional labyrinth weirs with its relatively small footprint. Labyrinth weirs were developed for increasing the discharge capacities of existing dams. However, their footprint does not allow them to be placed into dam crests easily. Nevertheless, Piano Key weirs can be directly implemented on existing spillways and increases the unit discharge capacity higher than the traditional weirs for similar heads and spillway widths. Piano Key weirs reduce the construction costs with their simple and replicable shapes. With all of these, this new type of structure becomes an interesting solution for dam rehabilitation. However, design methods of a Piano Key weir are still insufficient. The flow behavior of a Piano Key weir cannot be predicted accurately. Although there have been many investigations carried out, current data are not enough to allow a general design procedure because of the complex hydraulic behavior of the Piano Key weir. In this study, a comprehensive three-dimensional numerical investigation will be performed in order to support a reliable design process to obtain a generalized design procedure for the discharge capacity of Piano Key weirs by using computational fluid dynamics CFD-Software Flow-3D[®].

Keywords: Piano Key Weir, Labyrinth Weir, Weir Efficiency, Discharge Capacity, Dam Rehabilitation

PİYANO TUŞLU SAVAKLARIN TASARIMININ NUMERİK DESTEKLİ SÜRECİ

Ademoğlu, Serhan Yüksek Lisans, İnşaat Mühendisliği Tez Danışmanı: Prof. Dr. Mete Köken Ortak Tez Danışmanı: Prof. Dr. İsmail Aydın

Eylül 2019, 59 sayfa

Piyano Tuşlu savaklar, yakın zamanda geliştirilen ve baraj güvenliği ile birlikte savaktan geçen debinin verimliliğini artırarak fayda sağlayan hidrolik yapılardır. Bu yeni labirent savağı türü, diğer türdeki labirent savaklara göre nispeten daha az yer kaplamasından dolayı mükemmel bir alternatiftir. Labirent savaklar, mevcut barajların debi kapasitelerini artırmak için geliştirilmiştir. Ancak, geometrik yapılarından dolayı baraj üzerine yerleştirilmeleri bazen mümkün olmamaktadır. Bununla birlikte, Piyano Tuşlu savaklar mevcut baraj üzerine doğrudan yerleştirilebilir ve aynı su yüksekliği ve savak genişliğinde diğer labirent savaklara göre suyun boşalma kapasitesini arttırır. Piyano Tuşlu savaklar, yapım maliyetlerini geometrik yapılarının basit ve tekrarlanabilir şekillerde olmasından dolayı da azaltmaktadır. Bütün bunlarla birlikte, bu yeni yapı türü baraj rehabilitasyonu için iyi bir alternatif haline gelmiştir. Ancak, Piyano Tuşlu savakların tasarım yöntemleri hala yetersizdir. Bir Piyano Tuşlu savağın üzerinden geçen akımın akış davranışları doğru bir şekilde henüz tahmin edilememektedir. Yapılan birçok araştırma olmasına rağmen mevcut veriler Piyano Tuşlu savakların karmaşık hidrolik davranışı sebebiyle genel bir tasarım yöntemini hala gerçekleştirememiştir. Bu çalışmanın amacı, Piyano Tuşlu savaklar için güvenilir bir genel tasarım yöntemi oluşturmak için hesaplamalı akışkanlar dinamiği yazılımı

olan Flow-3D® kullanılarak Piyano Tuşlu savakların deşarj kapasitesi için genelleştirilmiş bir tasarım prosedürü oluşturmaktır.

Anahtar Kelimeler: Piyano Tuşlu Savak, Labirent Savak, Savak Verimliliği, Debi Kapasitesi, Baraj Rehabilitasyonu To my family,

ACKNOWLEDGEMENTS

I would like to give my sincere gratitude to all of the individual ones who supported and encouraged me for my thesis study.

It was a real privilege to study with my supervisor, Prof. Dr. Mete Köken. I would like to give my sincere gratitude for his guidance, kind advice and great support.

It was an honor to study with my co-supervisor, Prof. Dr. İsmail Aydın. I would like to give my deep gratitude for his criticism and great inspirations.

I wish to thank to my love, Ekin, for her endless love. With her love, her faith and her support, this thesis was completed.

I wish to thank to my dear family for their love, encouragement and support for all along the years: my father, Semih Ademoğlu, my mother, Özlem Ademoğlu and my brother, Arda Ademoğlu. I am very grateful to them.

I would like to give my special thanks to my friend, Yusuf Arslan for his sincerity all along the years in METU.

I would like to express my thankfulness to my dear friend, Farshid Mosaddeghi, for his help and motivation.

I would like to express my special thanks to Berkay Şeşen and Süha Afacan for their support, encouragement and kindness during the study.

TABLE OF CONTENTS

ABSTRACTv
ÖZ vii
ACKNOWLEDGEMENTSx
TABLE OF CONTENTSxi
LIST OF TABLES xiii
LIST OF FIGURES xvii
1. INTRODUCTION
1.1. Spillways and Spillway Improvements1
1.2. Problem Statement and Research Objectives
2. LITERATURE REVIEW
2.1. Piano Key Weir
2.2. Main Parameters Controlling the Discharge Capacity of a Piano Key Weir8
2.2.1. Effect of P/W _u on Discharge Capacity and Flow Conditions
2.2.2. Effect of L_u/W_u on Discharge Capacity and Flow Conditions
2.2.3. Effect of W_i/W_o on Discharge Capacity and Flow Conditions10
2.2.4. Effect of B_i/B_o on Discharge Capacity and Flow Conditions
2.3. Examples of the Applications of the Piano Key Weirs15
3. NUMERICAL MODELING
3.1. Mesh Selections17
3.2. Numerical Set-up21
3.3. Validation
3.4. Summary of the Numerical Models

	3.4.1.	. Investigation of the Effect of the Dam Height	24
	3.4.2.	. Investigation of the Effect of the Weir Height	25
	3.4.3.	. Investigation of the Effect of the Crest Length	26
	3.4.4.	Investigation of the Effect of the Weir Width	27
	3.4.5.	. Investigation of the Effect of the Overhang Length	28
4.	NUM	IERICAL RESULTS	29
4	.1. He	ad-Discharge Relations	29
	4.1.1.	Investigation of the Effect of the Weir Height	31
	4.1.2.	Investigation of the Effect of the Crest Length	36
	4.1.3.	Investigation of the Effect of the Weir Width	40
	4.1.4.	Investigation of the Effect of the Overhang Lengths	45
5.	DESI	IGN PROCESS	49
5	.1. De	sign of the Piano Key Weirs	49
6.	CON	CLUSION	53
6	.1. Sui	mmary and Conclusions	53
RE	FERE	NCES	57

LIST OF TABLES

TABLES

Table 1: Values of Geometrical Components of Existing Piano Key Weirs (Laugier et
al. 2013)15
Table 2: Values of Geometrical Parameters of Existing Piano Key Weirs16
Table 3: Information of Mesh Blocks 18
Table 4: Values of Geometrical Components of Selected Mesh Sizes
Table 5: Discharge Values for Selection of Convenient Mesh Sizes
Table 6: Information of Mesh Sizes Selected for Numerical Investigations 20
Table 7: Objects and Information of the Models for Numerical Investigations23
Table 8: Geometrical Values of the Models for the Investigation of the Effect of the
Dam Height
Table 9: Geometrical Values of the Models for the Investigation of the Effect of the
Weir Height
Table 10: Geometrical Values of the Models for the Investigation of the Effect of the
Crest Length
Table 11: Geometrical Values of the Models for the Investigation of the Effect of the
Weir Widths
Table 12: Geometrical Values of the Models for the Investigation of the Effect of the
Overhang Lengths
Table 13: Discharge Values for the Investigation of the Effect of the Weir Height for
Model 1
Table 14: Discharge Values for the Investigation of the Effect of the Weir Height for
Model 2
Table 15: Discharge Values for the Investigation of the Effect of the Weir Height for
Model 3

Table 16: Discharge Values for the Investigation of the Effect of the Weir Height for
Model 4
Table 17: Discharge Values for the Investigation of the Effect of the Weir Height for
Model 5
Table 18: Discharge Values for the Investigation of the Effect of the Crest Length
for Model 22
Table 19: Discharge Values for the Investigation of the Effect of the Crest Length for
Model 23
Table 20: Discharge Values for the Investigation of the Effect of the Crest Length for
Model 2
Table 21: Discharge Values for the Investigation of the Effect of the Crest Length for
Model 24
Table 22: Discharge Values for the Investigation of the Effect of the Crest Length for
Model 25
Table 23: Discharge Values for the Investigation of the Effect of the Crest Length for
Model 26
Table 24: Discharge Values for the Investigation of the Effect of the Crest Length for
Model 27
Table 25: Discharge Values for the Investigation of the Effect of the Crest Length for
Model 4
Table 26: Discharge Values for the Investigation of the Effect of the Crest Length for
Model 28
Table 27: Discharge Values for the Investigation of the Effect of the Crest Length for
6 6 6
Model 29

Table 31: Discharge Values for the Investigation of the Effect of the Weir Width for
Model 1441
Table 32: Discharge Values for the Investigation of the Effect of the Weir Width for
Model 1541
Table 33: Discharge Values for the Investigation of the Effect of the Weir Width for
Model 16
Table 34: Discharge Values for the Investigation of the Effect of the Weir Width for
Model 17
Table 35: Discharge Values for the Investigation of the Effect of the Weir Width for
Model 18
Table 36: Discharge Values for the Investigation of the Effect of the Weir Width for
Model 1942
Table 37: Discharge Values for the Investigation of the Effect of the Weir Width for
Model 20
Table 38: Discharge Values for the Investigation of the Effect of the Weir Width for
Model 2143
Table 39: Discharge Values for the Investigation of the Effect of the Overhang
Lengths for Model 245
Table 40: Discharge Values for the Investigation of the Effect of the Overhang
Lengths for Model 645
Table 41: Discharge Values for the Investigation of the Effect of the Overhang
Lengths for Model 745
Table 42: Discharge Values for the Investigation of the Effect of the Overhang
Lengths for Model 846
Table 43: Discharge Values for the Investigation of the Effect of the Overhang
Lengths for Model 446
Table 44: Discharge Values for the Investigation of the Effect of the Overhang
Lengths for Model 946
Table 45: Discharge Values for the Investigation of the Effect of the Overhang
L

Table 46: Discharge Values for the Investigation of the Effect of the Overhang	
Lengths for Model 11	47
Table 47: Example of the Design Process for Piano Key Weirs	51

LIST OF FIGURES

FIGURES

Figure 1: Components of a Piano Key Weir Unit
Figure 2a: Schematic Diagram of Piano Key Weir6
Figure 2b: Side View of a Piano Key Weir7
Figure 2c: Top View of a Piano Key Weir7
Figure 3a: Side View of the Flow Domain for Numerical Investigation17
Figure 3b: Top View of the Flow Domain for Numerical Investigation17
Figure 4: Model Studies for Mesh Size Selection for Head over Weir h=1m19
Figure 5: Model Studies for Mesh Size Selection for Head over Weir h=4m20
Figure 6: Selection of Boundary Conditions in Numerical Investigations21
Figure 7: 3-D Analyze of a Given Numerical Simulation
Figure 8: Model Studies for Dam Height Selection for Head over Weir h=1m25
Figure 9: Model Studies for Dam Height Selection for Head over Weir h=4m25
Figure 10: Discharge Passing Through the Crest of the Piano Key Weir30
Figure 11: Plan Views of Piano Key and Linear Weirs
Figure 12: Head-Discharge Relation of the Models for the Investigation of the Effect
of the Weir Height
Figure 13: Head-Discharge Efficiency Relation of the Models for the Investigation of
the Effect of the Weir Height
Figure 14: Dimensionless ratio of h/P-Discharge Efficiency Relation of the Models
for the Investigation of the Effect of the Weir Height
Figure 15: Head-Discharge Relation of the Models for the Investigation of the Effect
of the Crest Length
Figure 16: Head-Discharge Efficiency Relation of the Models for the Investigation of
the Effect of the Crest Length
Figure 17: Head-Discharge Relation of the Models for the Investigation of the Effect
of the Weir Width

Figure 18: Head-Discharge Efficiency Relation of the Models for the Investigation
of the Effect of the Weir Width
Figure 19: Head-Discharge Relation of the Models for the Investigation of the Effect
of the Overhang Lengths
Figure 20: Head-Discharge Efficiency Relation of the Models for the Investigation of
the Effect of the Overhang Lengths
Figure 21: Design Phase for the Selection of the Height of a Piano Key Weir50
Figure 22: Design Phase for the Selection of the Developed Length along the Crest of
a Piano Key Weir Unit

CHAPTER 1

INTRODUCTION

1.1. Spillways and Spillway Improvements

Dams are important structures owing to serving a lot of purposeful actions by storing water. Domestic and industrial use of water, irrigation and power generation can primarily be listed for such these actions. With all of these, dam safety becomes the most important subject to be considered to prevent loss of life and property and to ensure the sustainability of such needs. Therefore, spillways are one of the main structures of dams and serves quite important features. They are constructed to discharge excess water from upstream floods to prevent overtopping that may cause a dam breach and a possible dam failure. Most of the dam failures have been caused by design failures. For this reason, the essentials and responsibilities must be fulfilled before designing spillways.

Today, dam rehabilitation is an interesting subject for many researches because of the increasing number of floods caused by the changing climate conditions. Prone to more severe floods due to the climate change, spillways are being rehabilitated all around the world to increase their discharge capacity. It should also be kept in mind that, spillways constitute a significant part of the total cost of an entire dam. For these reasons, implementation of new type of structures with low cost solutions has been considered for the upgrade. Therefore, in order to represent a reliable, efficient, preferable and economic solution, many investigations have been carried out to challenge with the problems to fulfill the demands and ensure dam safety for present dams.

1.2. Problem Statement and Research Objectives

In recent years, a new type of nonlinear weir has been introduced. Lempérière and Ouamane (2003) presented an excellent solution for extending the weir length to increase the discharge capacity by developing piano shaped spillways. A Piano Key weir is one of the best developments of those recent studies which serve clear advantages. They are modified nonlinear spillways that can discharge large amounts of water and show great results in both hydraulics and cost compared to the conventional spillways in the same restrictions. The most important function of a Piano Key weir is the evacuation of important discharges up to $100 \text{ }^{3}/\text{ }^{1}/\text{ }^{1}$ which can be at least 4 or 5 times higher than a traditional weir with a limited footprint area for their implementation (Lempérière and Ouamane 2003). This advantage allows reservoir water level to increase dam safety. They can be constructed easily with their simple and replicable shapes which also decreases the construction costs because of the reduced amount of concrete volumes. Their utilization and maintenance are also favorable.

Although there are many advantages of the usage of Piano Key weirs, the hydraulic behavior of them is still not well understood. Accordingly, a generalized design process for the Piano Key weirs is still a problem to be studied. Although, the design processes for the existing Piano Key weirs was studied, it was not possible to obtain a generalized procedure. Pfister and Schleiss (2013b) showed that first design equations conducted experimentally do not give identical results because of many reasons such as scale effects and the difference of their application ranges. Additionally, a comprehensive research for a design procedure for a local construction of a Piano Key weir can be expensive and takes too much time to be completed. Thus, a generalized design procedure that can help us to develop this new type of hydraulic structures to replace the existing spillways can only be obtained through numerical investigation.

The main objective of this study is to develop a generalized design procedure for a Piano Key weir by numerical investigations using a computational fluid dynamics

CFD-Software Flow-3D[®]. Design processes of a Piano Key weir have mostly been based on experimental studies with scale models. All these studies have been modified to investigate specific cases and enabled to feature some important points of geometrical parameters of Piano Key weirs. However, it is not possible to study all the geometric parameters in an experimental study. Moreover, experimental models are prone to scale models. In other words, experimental studies do not give comprehensive results within the limitations of their scale and the number of parameters being investigated. Therefore, the way of investigation should be flexible to create various models with ease and should not include scale effects so that numerical investigation is preferred within this study.

The research objectives for this study can be divided into four parts.

First, literature will be reviewed. The principal aim for the review of literature for the present study is to find the main hydraulic and geometrical parameters that affect the discharge efficiency of a Piano Key weir. There are many hydraulic and geometrical parameters that influence the discharge capacity of a Piano Key weir but some of them have a greater influence on the discharge capacity. Therefore, numerical investigations will be aimed to understand the effects of the parameters that have major influence on the discharge capacity independently. After the review of the major dimensionless parameters, models which will be investigated by numerical investigations will be created with reasonable mesh sizes to get practical results. There are several Piano Key weirs constructed worldwide and their size distribution can help us to devise these models to be investigated. Therefore, another aim for literature review is to find real sizes of geometrical components of the existing Piano Key weirs.

Second, numerical model is generated to be used in the CFD-Software Flow-3D[®]. Numerical investigation method and mesh size distribution are essential to get reasonable results. Therefore, grid resolution is assumed in a numerical study.

Third part is the review of results of each investigation. Figures related with the headdischarge relations for each study are generated. The reason for generation of these tables are to find effects of each parameter on the discharge capacity for generating a design process.

And the last part of the research objectives for the present study is to develop a generalized design process for Piano Key weirs.

CHAPTER 2

LITERATURE REVIEW

2.1. Piano Key Weir

Piano Key weir is a type of labyrinth weir composed of Piano Key weir units which is defined as the smallest structure of a Piano Key weir. A unit of Piano Key weir consists of an entire inlet key, two halves of outlet keys on both sides and two sidewalls as it can be seen in Figure 1. Inlet key is the key opened on upstream region where fluid enters to Piano Key weir and outlet key is the key opened on the downstream region where fluid exits from Piano Key weir. Inlet and outlet keys consist of inclined aprons and they are limited with sidewalls and crest of the Piano Key weir.



Figure 1: Components of a Piano Key Weir Unit

Piano Key weir is a complex structure with several geometrical components. A threedimensional view and fundamental parameters of a Piano Key weir can be seen in Figure 2a, Figure 2b and Figure 2c. The main geometrical parameters of a Piano Key weir are represented according to the Pralong et al. (2011). These geometrical parameters are the number of Piano Key weir units N, the height of a Piano Key weir P, the total developed length along the crest of Piano Key weir L, the developed length along the crest of a Piano Key weir unit L_u, the total width of the Piano Key weir W, the unit width of Piano Key weir W_u, the inlet and outlet key widths of Piano Key weir W_i and W_o, the upstream and downstream length of Piano Key weir B, the upstream and downstream overhang lengths of Piano Key weir B_o and B_i, the sidewall thickness of Piano Key weir T_s and the dam height P_d. It is also important to note that the upstream flow head and the flow discharge are defined as h and Q in this study.



Figure 2a: Schematic Diagram of Piano Key Weir



Figure 2b: Side View of a Piano Key Weir



Figure 2c: Top View of a Piano Key Weir

2.2. Main Parameters Controlling the Discharge Capacity of a Piano Key Weir

The discharge efficiency of a Piano Key weir is affected by many geometrical parameters. However, it was investigated by several studies worldwide that some of these geometrical parameters are more effective than the other parameters. The ratio between the vertical and horizontal lengths (P/W_u), the rate of the increase of the developed length along the crest of Piano Key weir unit with respect to the unit weir width (L_u/W_u), the inlet and outlet widths (W_i/W_o) and the downstream and upstream overhang lengths (B_i/B_o) of the weir were appeared to have a great influence on the discharge efficiency of a Piano Key weir.

It is important to note that the water head, h, is also an important aspect to be considered before the design process. It was studied and found in many investigations that the water head influences the function of the geometrical parameters of a Piano Key weir. In this study, investigations and reviews of the influence of the water head , h, to the function of the most important geometrical parameters of a Piano Key weir were given in the titles of these key parameters below.

2.2.1 Effect of P/W_u on Discharge Capacity and Flow Conditions

The discharge capacity of a Piano Key weir is a function of several geometrical parameters. One of the most important parameters that affect the discharge capacity is the height of a Piano Key weir, P, which has a great impact on the entrance area of inlet and key slopes, S_i and S_o . The previous studies concluded that the effect of the weir height, P, is one of the most significant components to influence the discharge efficiency. Ouamane and Lempérière (2006) showed that the discharge efficiency is dependent on the ratio of P/W_u. It was found that as the weir height, P, is increased 20%, the increase of the discharge is between 5% to 10%. Lately, it was supported by another study by Ouamane and Lempérière (2008) with very similar conclusions that the height of the Piano Key weir, P, affects the performance clearly. Cicero et al. (2010) studied an experimental optimization with 4 Piano Key weir alternatives with varying weir heights, P, for increasing the spillway capacity of Malarce Dam. It was

tested that the wall height, P, improves the discharge capacity. Another conclusion was made by Noui and Ouamane (2011) that discharge efficiency can be increased 25% for low heads and 5% for medium heads by increasing the weir height, P. It was also suggested that a Piano Key weir should be operated for low heads in order to have high performance. A sensitivity analysis made by Pralong et al. (2011) also supported the conclusion that the Piano Key weir efficiency can be increased by heightening the Piano Key weir. Another investigation for understanding the effect of the weir height, P, was studied by Lefebvre et al. (2013) by numerical simulations. It was highlighted that the cases which provides the increase of the discharge efficiency by increasing the weir height, P, are the decrease of the hydraulic head losses in the inlet section area, the increase of the flow evacuation because of the steepness of the outlet key and the decrease of the local submergence. Machiels et al. (2014) stated that the discharge capacity can be increased with the weir height, P, without the dependence of the upstream head for the values of the ratio of P/W_u lesser than 1 and conversely the weir height, P, has no effect on the discharge efficiency for the values of ratio of P/W_u greater than 1. The best hydraulic efficiency was gained with the value of ratio of P/W_u greater than 1. However, this ratio was suggested to be selected as close to 0.50 because of the construction and design constraints. Another investigation agrees with the study Machiels et al. (2014) was researched by Erpicum et al. (2014) and highlighted the importance of the weir height, P, and the function of a Piano Key weir with certain values of the upstream heads.

2.2.2. Effect of Lu/Wu on Discharge Capacity and Flow Conditions

The relation between the total crest length and the total width of the Piano Key weir is the main influential portion of the discharge efficiency of a Piano Key weir. It was studied by Ouamane and Lempérière (2006) that the dimensionless ratio of L_u/W_u is very efficient for low water heads (h/P<0.60) but the efficiency decreases as the water head increases. Lately, the effect of the ratio of the total crest length, L, and the total weir width, W, was investigated by changing the slope of aprons, P/B, of the models by Ouamane and Lempérière (2008). It was found that the increase of the discharge capacity by increasing the dimensionless ratio of L_u/W_u is dependent on the slope of aprons. It was revealed that the dimensionless ratio of L_u/W_u has no impact on the discharge efficiency for the values of slope of aprons lower than 0.50. However, for the values greater than 0.50, the influence of the ratio of L_u/W_u was found effective. It is important to note that this investigation was studied for the models without downstream overhangs, B_i. Ouamane (2011) stated that the discharge efficiency of a Piano Key weir increases continuously as the ratio of L_u/W_u increases. Also, it was noted that the discharge efficiency decreases with the head increase which is more significant for the weirs with large values of the ratio of the elongation of the crest. Therefore, an optimal ratio for a Piano Key weir was given between 5 and 6. Leite Ribeiro et al. (2012) also stated that the ratio between the vertical and horizontal lengths of the Piano Key weir should be considered as a crucial design parameter. It was found that the width of the inlet key, W_i, become more important than the elongation of the crest of the Piano Key weir, L_u, when the water head was normalized with the height of the Piano Key weir, P.

2.2.3. Effect of W_i/W_o on Discharge Capacity and Flow Conditions

Piano Key weirs are the hydraulic structures designed with inlet and outlet widths, W_i and W_o . Therefore, the impact of the geometrical characteristics and the relation between inlet and outlet widths, W_i and W_o is quite important. In literature, there are many studies investigating the impact of the key widths and it is agreed that one of the main parameters controlling the discharge capacity is the ratio of the inlet and outlet widths, W_i and W_o . Ouamane and Lempérière (2006) found that inlet alveolus, W_i , higher than that of outlet alveolus, W_o , makes Piano Key weir have a better efficiency for low heads. Lately, it was added by Ouamane and Lempérière (2008) that the choice of a relative width W_i/W_o equals to 1.20 allows to have a higher hydraulic efficiency about 5% regarding the other models. In these two studies, it is important to note that the cost estimation for designing a Piano Key weir with higher inlet alveolus width, W_i , than that of outlet alveolus width, W_o was also slightly highlighted. It was reported that without any additional expense, it is the same cost to increase the inlet alveolus

width, W_i, and decrease the outlet alveolus width, W_o. It was also stated by Ouamane (2011) that the optimal ratio between the inlet and outlet alveolus width, W_i and W_o . is between 1.20 and 1.50. In 2011, a sensitivity analysis for geometrical parameters including the ratio of the inlet and outlet widths, W_i/W_o, was tested with a 3D numerical model developed at EDF on the CDF Software Flow-3D® by Pralong et al. (2011). The investigation was carried out with keeping total width, W, constant and changing the ratio of the inlet and outlet alveolus widths, W_i/W_o. It was concluded that the optimal ratio between the inlet and outlet alveolus widths, W_i/W_o, is dependent on the incoming head and always above 1. It was clarified that the optimal ratio is becoming lower for higher heads. On the other hand, it was also stated that for low incoming heads, the discharge is controlled by the developed length as no submergence effect happens. Another conclusion of the effect of the ratio of the alveolus widths, W_i/W_o, was made by Noui and Ouamane (2011). It was informed that the value of the optimal ratio where the best hydraulic performance was noticed along the tested values for low and medium incoming heads were noticed as 1.20 and 1.50. Leite Ribeiro et al. (2011b) also studied the effect of the alveolus widths, W_i and W_o, and agreed with the studies which have been mentioned above. It was found that the ratio between the inlet and outlet alveolus widths, W_i/W_o, show a higher efficiency when it is above 1. However, it was noted that the ratios W_i/W_o equals to 1.25, 1.60 and 2 do not show any differences in their investigations. Another study which is consistent with the findings about the effect of the ratio of the inlet and outlet alveolus widths, W_i/W_o, was studied by Anderson (2011). It was found that the ratios W_i/W_o equals to 1.25 and 1.50 produce the highest discharges and this the ratio of W_i/W_o was suggested to be in the range between 1.25 and 1.50. It was highlighted that the ratio W_i/W_o equals to 1.25 produces relatively higher discharges than W_i/W_o equals to 1.50 for higher incoming heads for h/P=0.60. On the other hand, for lower incoming heads, the ratio W_i/W_o equals to 1.50 reveals higher discharges than W_i/W_o equals to 1.25 for h/P=0.60. In this study, the effect of the ratio between the inlet and outlet alveolus width, W_i/W_o, was explained. It was clarified that as inlet alveolus width, W_i, increases, the total effect of the head loss related with flow entering inlet alveolus

decreases which results the increase of the discharge capacity. It was also stated that the discharge capacity decreases with the decrease of the inlet alveolus width, W_i, which results with an increase of the local submergence. This phenomenon was also investigated by Kabiri-Samani and Javaheri (2012) and agreed with the conclusions made by Anderson (2011). Another investigation which clarified the effect of the outlet key was carried out by Vermeulen et al. (2011). It was stated that the outlet alveolus width, W_o, is the limiting factor for the selection of the inlet and outlet alveolus widths, W_i and W_o. Another investigation for understanding the effect of the ratio of the inlet and outlet alveolus widths, W_i/W_o, considering two Piano Key weir heights, P, was studied by Machiels et al. (2012d). It was stated that the optimal value of the ratio of the inlet and outlet alveolus width, W_i/W_o , is 1.25 and the ratio of W_i/W_o must be selected without decreasing the outlet alveolus width, W₀ too much. It was clarified that a too narrow outlet alveolus may be unable to evacuate the flow under supercritical conditions and result in the decrease of the discharge efficiency. However, it was noted that for projects with a high number of Piano Key weir units, a W_i/W_o ratio of 1 appears satisfactory for economic and hydraulic considerations. The functioning of the outlet key was also explained by Leite Ribeiro et al. (2012). It was stated that the efficiency of the Piano Key weir depends on the functioning of the outlet. It was explained that with the increasing head, the efficiency of the Piano Key weir decreases because of the occurrence of the lateral jet-overcrossing and flow drowning. However, for low heads, the functioning of the outlet becomes unimportant and it was recommended for low head that the ratio of W_i/W_o can be selected as 1.60. Another investigation for understanding the effect of the ratio of inlet and outlet alveolus widths, W_i and W_o, of Piano Key weir was also done by Lefebvre et al. (2013) by using the CFD-Software Flow-3D®. It was agreed with the studies mentioned above that the increasing the inlet alveolus width, W_i, increases discharge efficiency. It was also shown that the optimal value for the ratio W_i/W_o is lower for small incoming heads. Anderson and Tullis (2013) studied to understand the effects of Piano Key weir modifications by varying the ratio of the inlet and outlet alveolus width, W_i/W_o, and found that the optimal range lies between 1.25 and 1.50. Also, it was stated

that the influence of the ratio of W_i/W_o decreases as water head increases. Another investigation studied by Machiels et al. (2014) for understanding the effect of the ratio of the inlet and outlet alveolus width, W_i/W_o , considering weir heights, P, revealed that the ratios of W_i/W_o between 1.29 and 1.57 provide the optimal discharge capacity whatever the weir height, P, for the ranges of h/W_u which is suitable to be selected for the dam rehabilitations in Europe and Asia. This investigation was agreed with Erpicum et al. (2014) which confirmed that whatever the Piano Key weir height, P, optimization of the ratio of the inlet and outlet alveolus widths, W_i/W_o , increases the weir efficiency by about 30% which remains far below the effect of the weir height, P, optimization.

2.2.4. Effect of Bi/Bo on Discharge Capacity and Flow Conditions

The discharge of a Piano Key weir is affected by many parameters because of the several geometrical components of it. It was clearly investigated by the previous studies that one of the main geometrical parameters which have an influence on the discharge efficiency of a Piano Key weir is the ratio between the inlet and the outlet overhang lengths, B_i/B_o. It was studied by Ouamane and Lempérière (2006) that the model without downstream overhangs showed higher discharge efficiency than the models with downstream overhangs. The increase was found nearly 12% for relative head of h/P<0.40. It was stated that the models without downstream overhangs may be great solutions for huge discharges, but it was also noted that symmetrical overhangs still represent economical solutions. The same conclusion was stated by Ouamane and Lempérière (2008) that the model with a single upstream overhang is the best solution because of allowing an increase of 10% for the discharge efficiency. The effect of the upstream overhang was also highlighted by Ouamane and Lempérière (2010) with the result that the increase of the discharge with upstream overhangs was found nearly 4 times higher than a standard weir and furthermore 3.50 times higher without upstream overhangs for low heads. The design without downstream overhangs were recommended for only high discharges by Ouamane (2011) that during the periods of when the level of sill is higher than the reservoir

level. The length of the upstream overhang, B_o, was not recommended by Vermeulen et al. (2011) to be designed more than 5 meters because of the economic reasons despite its hydraulic advantageous. It was stated by Machiels et al. (2012d) that the hydraulic optimum for selecting the length of the upstream overhang, B_o, is the longest one without decreasing the efficiency of the crest of the sidewall, T_s. It was clarified that the discharge efficiency decreases as the length of the upstream overhang, B_0 , exceed the optimal value because of the decrease in the slope and the resilience capacity of the outlet slope, So. Also, a design with symmetrical overhangs was recommended by in their study. It was stated that symmetrical overhangs make construction more stable and favors the use of the precast elements. A study for understanding the effect of the upstream and downstream overhangs was performed by Anderson and Tullis (2011) by comparing Piano Key weirs with rectangular labyrinth weirs. The efficiency of the overhangs of a Piano Key weir was related with the flow contractions and the energy loss. It was stated that as the length of the upstream overhang, B_o, increases, the area and wetted perimeter in the inlet key increases which results in an increase in the discharge capacity because of decreasing the flow velocities, flow contractions and energy loss. It was also stated that the length of the downstream overhang, B_i, can increase the area and the wetted perimeter of the outlet key which results the discharge to exit efficiently. A sensitivity analysis made by Pralong et al. (2011) showed that increasing the length of the upstream overhang, B₀, increases the discharge efficiency. However, it was stated that the ratio of the lengths of the upstream and downstream overhangs, B_i/B_o is not a sensitive parameter because of the insignificant gains on discharge. Another investigation to improve the understanding of the efficiency of Piano Key weirs were performed by Machiels et al. (2012d) showed that the influence of the dimensionless ratio of the B_i/B_0 equals to 0.33 results with 10% increase in the discharge efficiency for the values of P/Wu equals to 1.30. Also, it was found that the highest discharge efficiency was obtained with only upstream overhangs for low heads. However, it was noted that this efficiency decreases with the increasing water head and becomes negligible for the values of h/W_u equals to 0.30. All the tested models with the ratio of B_i/B_o lead to decrease in the discharge efficiency for the values of P/W_u equals to 0.50 and it was found that the model with symmetrical overhangs is the best option for this value. It was stated by Erpicum et al. (2014) that the influence of the overhang lengths on the discharge efficiency of a Piano Key weir is not a significant factor because of increasing the efficiency up to 20% and agrees with the statements made by Pralong et al. (2011).

2.3. Examples of the Applications of the Piano Key Weirs

Piano Key weir was first designed in 2001 and constructed in France in 2006 (Laugier, 2007). Now, there are several Piano Key weirs constructed worldwide. In this study, the geometrical components of existing Piano Key weirs are examined to create convenient models to derive a design process. Therefore, important geometrical parameters of some of the present Piano Key weirs are listed below in Table 1.

Dams	Region	Year	P (m)	W _i (m)	W _o (m)	Wu (m)	B _i (m)	B _o (m)	B (m)	L (m)
Goulours	France	2006	3.10	2.70	1.50-1.80	4.75	1.50	3.35	9.30	59.00
Saint- Marc	France	2008	4.20	3.10	2.20	5.90	4.00	4.00	12.70	77.00
L'Etroit	France	2009	5.30	2.45-2.75	1.50	4.80	2.00	3.20	12.20	78.00
Les Gloriettes	France	2010	3.00	2.3-2.5	1.50	4.40	2.60	3.50	10.00	86.80
Escouloub re	France	2011	1.80	1.30	0.90	3.80	1.20	1.20	5.10	22.00
Malarce	France	2012	4.40	1.25-1.65	1.58	3.63	2.03	6.63	13.46	350.00
Gage	France	-	6.00	1.60	1.30	3.70	3.00	4.00	13.00	208.00
La Raviege	France	-	4.67	2.40	1.65	4.85	3.33	4.00	13.24	177.00
Charmines	France	2015	4.38	2.40	1.60	4.70	4.41	3.97	13.24	2*120.00
Campaulei l	France	2014	5.35	1.55	1.40	3.65	2.80	4.90	13.10	115.00

Table 1: Values of Geometrical Components of Existing Piano Key Weirs (Laugier et al. 2013)

The most important non-dimensional geometrical parameters for the existing Piano Key weirs were also generated by the values given in Table 1 and these values are given in Table 2 below to identify the effective range of those parameters.

Dams	Region	Year	L_u/W_u	W_i/W_o	$\mathrm{B_{i}\!/B_{o}}$	P/W _u
Goulours	France	2006	4.92	1.80	0.45	0.65
Saint-Marc	France	2008	4.28	1.41	1.00	1.71
L'Etroit	France	2009	4.17	1.83	0.63	1.01
Les Gloriettes	France	2010	4.69	1.67	0.74	0.68
Escouloubre	France	2011	4.58	1.44	1.00	0.47
Malarce	France	2012	8.23	1.04	0.31	1.21
Gage	France	-	7.82	1.23	0.75	1.62
La Raviege	France	-	6.86	1.45	0.83	0.96
Charmines	France	2015	5.21	1.50	1.11	0.93
Campauleil	France	2014	6.95	1.11	0.57	1.47

Table 2: Values of Geometrical Parameters of Existing Piano Key Weirs

CHAPTER 3

NUMERICAL MODELING

3.1. Mesh Selections

Mesh size selection is a critical factor before starting numerical investigations. It is essential to determine the domain size and the mesh size to obtain accurate results. In this study, before selecting the convenient mesh size, domain is divided into blocks. Selected mesh size for each block within the flow domain is shown in Figure 3a and Figure 3b below.



Figure 3a: Side View of the Flow Domain for Numerical Investigation



Figure 3b: Top View of the Flow Domain for Numerical Investigation

Mesh sizes are refined near the water surface and the crest level of the Piano Key weir. Also, baffle regions are defined on Piano Key weir crest to read the exact discharge values passing through the crest of the inlet, outlet and sidewall regions. Baffle regions are indicated as yellow on weir crest and can be also seen in Figure 3a.

The information of the mesh blocks can be seen in the Table 3. All the mesh blocks were designed in such a way that water level can be raised up to 4 meters. Therefore, the upper level of the mesh blocks was selected to be 5 meters more than the spillway crest considering the probable water level changes.

Block	Block Height (m)	Block Length (m)	Block Width (m)
Block 1	P+5	1.5B	Wu/2
Block 2	P+5	0.75B	Wu/2
Block 3	2P	2.25B	Wu/2
Block 4	3P+5	0.75B	Wu/2

Table 3: Information of Mesh Blocks

After the selection of the mesh blocks, a numerical investigation was performed to select convenient mesh sizes for each mesh block. Five alternative mesh sizes proportional to each other on each block were considered. The geometric details of all the mesh sizes that were tried on the same model are given below in Table 4. The numerical investigation was performed for maximum and minimum water levels where h_{max} equals to 4 meters and h_{min} equals to 1 meter to compare the results of the 5 mesh alternatives to select the most suitable one.

Table 4: Values of Geometrical Components of Selected Mesh Sizes

P (m)	P _d (m)	W _i (m)	W _u (m)	B _i (m)	B (m)	L_u/W_u	P/W _u	W_i/W_o	B _i /B _o
5.00	10.00	2.50	5.80	2.90	11.60	5.00	0.86	1.00	1.00
It can be seen in the Table 5 that as the total number of cells increases, the calculated value of the discharge surpassing over the spillway crest, Q_{pkw} , decreases. However, the results of Alternative 3, Alternative 4 and Alternative 5 do not diverge from each other for the minimum upstream water head as it can be seen in Figure 4. Also, the results of the Alternative 3 and Alternative 5 are nearly same for the investigation with the maximum upstream head as it can be seen in Figure 5.

Mesh	Total Cell	h (m)	Q _{pkw} (m ³ /s)
A1/ / 1	194.254	4.00	167.24
Alternative I	194.254	1.00	39.08
Altermetice 2	324.762	4.00	167.73
Alternative 2	324.762	1.00	39.17
A 16-11-12 2	458.263	4.00	162.46
Alternative 3	458.263	1.00	38.49
A 16 A	623.652	4.00	165.54
Alternative 4	623.652	1.00	38.44
Altomativa 5	892.402	4.00	162.67
Anemative 5	892.402	1.00	38.56

Table 5: Discharge Values for Selection of Convenient Mesh Sizes



Figure 4: Model Studies for Mesh Size Selection for Head over Weir h=1m



Figure 5: Model Studies for Mesh Size Selection for Head over Weir h=4m

It is important to note that as the total number of cells increases, the mesh sizes decrease, and this can decelerate the investigation time of the study. Therefore, Alternative 3 with convenient mesh sizes and minimum total number of cells was selected to be applied on all the models for the numerical investigations. The cell sizes on different blocks of Alternative 3 is given below in Table 6.

Mesh Block	Coordinate	Cell Size (m)	Section	Aspect Ratio
	Х	0.109	x:y	1.05
Block1	Y	0.104	y:z	0.83
	Z	0.125	Z:X	1.15
	Х	0.218	x:y	1.05
Block2	Y	0.207	y:z	0.83
	Z	0.250	Z:X	1.15
	Х	0.435	x:y	1.05
Block3	Y	0.414	y:z	0.83
	Z	0.500	z:x	1.15
	Х	0.435	x:y	1.05
Block4	Y	0.414	y:z	0.83
	Z	0.500	Z:X	1.15

Table 6: Information of Mesh Sizes Selected for Numerical Investigations

3.2. Numerical Set-up

As it was mentioned earlier, models are considered with a basic structure of half of a Piano Key weir unit which has half of an inlet key and half of an outlet key to decrease the run time for all simulations. Therefore, the total number of cells differs for keeping the cell sizes constant in each model. As a result, being different for each model, run times were around 12-48 hours until steady-state solutions were obtained.

The boundary conditions for the numerical calculations can be seen in Figure 6 below. In the upstream, boundary type was selected as specified pressure (P) and water level was fixed corresponding to a given head. In the outflow, boundary type was specified as outflow (O). Boundary type was selected as wall (W) for the underside of the mesh blocks. Lastly, remaining boundaries of the mesh blocks were selected as symmetry boundary (S).



Figure 6: Selection of Boundary Conditions in Numerical Investigations

In the present study, numerical investigations were performed by using computational fluid dynamics CFD-Software Flow-3D[®]. Free surface flow conditions were simulated by using k-epsilon RNG turbulence model equations at least 40 seconds to ensure convergence. In Figure 7, velocity magnitude contours in one of the models can be seen.



Figure 7: 3-D Analyze of a Given Numerical Simulation

3.3. Validation

In the present study, numerical results of the investigations by using CFD-Software Flow-3D® were validated with hydraulic model studies investigated by Aydın et al. (2017). In their study, the discharge values obtained from numerical results by using computational fluid dynamics CFD-Software Flow-3D® were in the experimental error margin.

3.4. Summary of the Numerical Models

In this study, a total number of 29 models were created to start numerical investigations to understand the effects of the dimensionless parameters of the Piano

Key weir on the influence on the discharge efficiency after the selection of the model. Each of the models were created with the same unit width, W_u , of 5.80 m and weir thickness, T_s , of 0.40 m. Investigation objectives and the information about the models are given below in Table 7. It can be seen in the table that the total number of cells differs from each other in order to be able to keep cell sizes constant.

Model	Total Cell	Investigation Object	Brief Explanation
Model 1	344.513	The Effect of the Weir Height	P=2.50 m
Model 2	458.263	The Effect of the Weir Height	P=5.00 m
Model 3	572.013	The Effect of the Weir Height	P=7.50 m
Model 4	685.763	The Effect of the Weir Height	P=10.00 m
Model 5	799.513	The Effect of the Weir Height	P=12.50 m
Model 6	458.263	The Effect of the Overhang Lengths	P=5.00 m and Bi/Bo=0.50
Model 7	458.263	The Effect of the Overhang Lengths	P=5.00 m and Bi/Bo=0.33
Model 8	458.263	The Effect of the Overhang Lengths	P=5.00 m and Bi/Bo=0.00
Model 9	685.763	The Effect of the Overhang Lengths	P=10.00 m and Bi/Bo=0.50
Model 10	685.763	The Effect of the Overhang Lengths	P=10.00 m and Bi/Bo=0.33
Model 11	685.763	The Effect of the Overhang Lengths	P=10.00 m and Bi/Bo=0.00
Model 12	458.263	The Effect of the Weir Widths	Wi/Wo=1.10
Model 13	458.263	The Effect of the Weir Widths	Wi/Wo=1.20
Model 14	458.263	The Effect of the Weir Widths	Wi/Wo=1.30
Model 15	458.263	The Effect of the Weir Widths	Wi/Wo=1.40
Model 16	458.263	The Effect of the Weir Widths	Wi/Wo=1.50
Model 17	458.263	The Effect of the Weir Widths	Wi/Wo=1.60
Model 18	458.263	The Effect of the Weir Widths	Wi/Wo=1.70
Model 19	458.263	The Effect of the Weir Widths	Wi/Wo=1.80
Model 20	458.263	The Effect of the Weir Widths	Wi/Wo=1.90
Model 21	458.263	The Effect of the Weir Widths	Wi/Wo=2.00
Model 22	235.313	The Effect of the Crest Length	P=5.00 m and L/W=3.00
Model 23	346.788	The Effect of the Crest Length	P=5.00 m and L/W=4.00
Model 24	569.738	The Effect of the Crest Length	P=5.00 m and L/W=6.00
Model 25	681.213	The Effect of the Crest Length	P=5.00 m and L/W=7.00
Model 26	352.313	The Effect of the Crest Length	P=10.00 m and L/W=3.00
Model 27	519.038	The Effect of the Crest Length	P=10.00 m and L/W=4.00
Model 28	852.488	The Effect of the Crest Length	P=10.00 m and L/W=6.00
Model 29	1.019.213	The Effect of the Crest Length	P=10.00 m and L/W=7.00

Table 7: Objects and Information of the Models for Numerical Investigations

3.4.1. Investigation of the Effect of the Dam Height

The effect of the dam height, P_d , is investigated before starting the investigation on the main parameters controlling the discharge capacity of the Piano Key weirs. The reason for this investigation is to define a constant dam height, P_d , for all the models in order to eliminate the possible effect of dam height, P_d , on the discharge. Therefore, three different dam heights, P_d , are investigated for the minimum and maximum water levels. All three models have constant ratios of $W_i/W_o=1$, $B_i/B_o=1$ and $L_u/W_u=5$.

The discharge values of the models of the models for the investigation of the effect of the dam height, P_d , which are calculated by numerical investigation are given in Table 8 below. Note that, the discharge passing through the crest of the Piano Key weir is represented as Q_{pkw} .

Model	Pd/P	P (m)	h (m)	Q_{pkw} (\mathbf{m}^{3} / \mathbf{s})
DJ1	1.00	5.00	4.00	162.61
Pul	1.00	5.00	1.00	39.04
CFG	2.00	5.00	4.00	162.46
Puz	2.00	5.00	1.00	38.49
Dd2	2.00	5.00	4.00	163.82
Pus	5.00	5.00	1.00	38.44

Table 8: Geometrical Values of the Models for the Investigation of the Effect of the Dam Height

It can be seen in Figure 8 and Figure 9 that the effect of dam height, P_d , has negligible effect on the discharge capacity of Piano Key weir. It is also important to note that the time for the numerical solutions become longer as the dam height, P_d , increases because of the increase in the total mesh size. Therefore, the ratio of $P_d/P=2$ is selected for all the models.



Figure 8: Model Studies for Dam Height Selection for Head over Weir h=1m



Figure 9: Model Studies for Dam Height Selection for Head over Weir h=4m

3.4.2. Investigation of the Effect of the Weir Height

The effect of the weir height, P, for the discharge efficiency of a Piano Key weir will be investigated in this subsection with 5 models. All these models have the same geometries with varying weir heights, P. All the important values and the parameters of the models for investigating the effect of the weir height are given below in Table 9.

Model	P (m)	P/W _u	P/B	P/T _s	$\mathbf{S}_{\mathbf{i}}$	So	L_u/W_u	W_i/W_o	$\mathbf{B}_{i}/\mathbf{B}_{o}$	B _i /B
Model 1	2.50	0.43	0.22	6.25	0.30	0.30	5.00	1.00	1.00	0.25
Model 2	5.00	0.86	0.43	12.50	0.60	0.60	5.00	1.00	1.00	0.25
Model 3	7.50	1.29	0.65	18.75	0.90	0.90	5.00	1.00	1.00	0.25
Model 4	10.00	1.72	0.86	25.00	1.20	1.20	5.00	1.00	1.00	0.25
Model 5	12.50	2.16	1.08	31.25	1.51	1.51	5.00	1.00	1.00	0.25

Table 9: Geometrical Values of the Models for the Investigation of the Effect of the Weir Height

The selection criteria for the values of the parameters of different models were based on the present Piano Key weirs. However, the weir heights, P, which are greater than the value of P=7.50 m for this study may not be realistic as it is not present in the present Piano Key weirs already built up to now (See Table 2). The reason for selecting such great values for the weir heights, P, is to understand the correlation between the weir height, P, and the discharge efficiency. Generally, the height of a Piano Key weir, P, which was designed or constructed does not exceed the value of P=6 m as it was shown previously in Table 1.

3.4.3. Investigation of the Effect of the Crest Length

The effect of the crest length on the discharge capacity of a Piano Key weir is investigated in this study with 10 models using a constant unit width, W_u , with varying L_u/W_u ratios of 3, 4, 5, 6 and 7. Each model is created with 2 different weir heights of P=5 m and P=10 m to see the possible effects of the weir heights, P, with varying unit developed crest length, L_u , on the discharge capacity. All the important values and the parameters of the models for investigating the effect of the crest length are given below in Table 10.

Model	P (m)	Wi (m)	Wu (m)	Bi (m)	B (m)	Lu (m)	Lu/Wu	P/Wu	P/B
Model 22	5.00	2.50	5.80	1.45	5.80	17.40	3.00	0.86	0.86
Model 23	5.00	2.50	5.80	2.18	8.70	23.20	4.00	0.86	0.57
Model 2	5.00	2.50	5.80	2.90	11.60	29.00	5.00	0.86	0.43
Model 24	5.00	2.50	5.80	3.63	14.50	34.80	6.00	0.86	0.34
Model 25	5.00	2.50	5.80	4.35	17.40	40.60	7.00	0.86	0.29
Model 26	10.00	2.50	5.80	1.45	5.80	17.40	3.00	1.72	1.72
Model 27	10.00	2.50	5.80	2.18	8.70	23.20	4.00	1.72	1.15
Model 4	10.00	2.50	5.80	2.90	11.60	29.00	5.00	1.72	0.86
Model 28	10.00	2.50	5.80	3.63	14.50	34.80	6.00	1.72	0.69
Model 29	10.00	2.50	5.80	4.35	17.40	40.60	7.00	1.72	0.57

Table 10: Geometrical Values of the Models for the Investigation of the Effect of the Crest Length

The selection criteria for the range of the values of the unit developed crest lengths of the models are also based on the existing Piano Key weirs as it is shown in Table 1.

3.4.4. Investigation of the Effect of the Weir Width

The effect of the weir width for the discharge efficiency of a Piano Key weir is investigated in this study with 11 models. All the models for the investigation have identical geometries with varying inlet and outlet weir widths, W_i and W_o , for a constant unit width, W_u . The weir height, P, for investigating the effect of the weir width for all models is selected as P=5 m. All the important values and parameters of the models for investigating the effect of the weir width are given below in Table 11.

Model	P (m)	T _s (m)	W _i (m)	W _o (m)	W _i /W _o	Wu (m)	L _u /W _u	B _i /B _o	B _i /B
Model 2	5.00	0.40	2.50	2.50	1.00	5.80	5.00	1.00	0.25
Model 12	5.00	0.40	2.62	2.38	1.10	5.80	5.00	1.00	0.25
Model 13	5.00	0.40	2.73	2.27	1.20	5.80	5.00	1.00	0.25
Model 14	5.00	0.40	2.83	2.17	1.30	5.80	5.00	1.00	0.25
Model 15	5.00	0.40	2.92	2.08	1.40	5.80	5.00	1.00	0.25
Model 16	5.00	0.40	3.00	2.00	1.50	5.80	5.00	1.00	0.25
Model 17	5.00	0.40	3.08	1.92	1.60	5.80	5.00	1.00	0.25
Model 18	5.00	0.40	3.15	1.85	1.70	5.80	5.00	1.00	0.25
Model 19	5.00	0.40	3.21	1.79	1.80	5.80	5.00	1.00	0.25
Model 20	5.00	0.40	3.28	1.72	1.90	5.80	5.00	1.00	0.25
Model 21	5.00	0.40	3.33	1.67	2.00	5.80	5.00	1.00	0.25

Table 11: Geometrical Values of the Models for the Investigation of the Effect of the Weir Widths

The selection criteria for the values of the weir widths of the models are based on the existing Piano Key weirs. The common unit weir widths, Wu, of the present Piano Key weirs are about 5 m as it is shown in Table 1.

3.4.5. Investigation of the Effect of the Overhang Length

The effect of the overhang lengths, B_i and B_o, for the discharge efficiency of a Piano Key weir is investigated in this study with 8 models under a constant unit width, W_u, and weir lengths, B, with varying B_i/B_0 ratios of 1, 0.50, 0.33 and 0. Each model was created with 2 different weir heights, P, to see the possible effects of the weir heights, P. All the important values and parameters of the models for investigating the effect of the overhang lengths, B_i and B_o, are given below in Table 12.

Table 12: Geometrical	Values of the Models for	r the Investigation of the	Effect of the Overhang Le	ngths

Model	P (m)	B _i (m)	B _o (m)	B (m)	B _i /B _o	B _i /B	B _o /B	$\mathbf{S}_{\mathbf{i}}$	So	P/B	L _u /W _u	W_i/W_o
Model 2	5.00	2.90	2.90	11.60	1.00	0.25	0.25	0.60	0.60	0.43	5.00	1.00
Model 6	5.00	1.93	3.87	11.60	0.50	0.17	0.33	0.68	0.54	0.43	5.00	1.00
Model 7	5.00	1.45	4.35	11.60	0.33	0.13	0.38	0.73	0.51	0.43	5.00	1.00
Model 8	5.00	0.00	5.80	11.60	0.00	0.00	0.50	0.93	0.45	0.43	5.00	1.00
Model 4	10.00	2.90	2.90	11.60	1.00	0.25	0.25	1.20	1.20	0.86	5.00	1.00
Model 9	10.00	1.93	3.87	11.60	0.50	0.17	0.33	1.36	1.08	0.86	5.00	1.00
Model 10	10.00	1.45	4.35	11.60	0.33	0.13	0.38	1.46	1.03	0.86	5.00	1.00
Model 11	10.00	0.00	5.80	11.60	0.00	0.00	0.50	1.85	0.89	0.86	5.00	1.00

The selection criteria for the values of the geometries of these models to investigate the effect of the overhang lengths, B_i and B_o, are also based on the present Piano Key weirs. It is important to note that the overhang length of the existing Piano Key weirs does not exceed 5 m as it can be seen in Table 1.

CHAPTER 4

NUMERICAL RESULTS

4.1. Head-Discharge Relations

It was mentioned above that there were 29 models created in order to understand the effect of various geometrical parameters on the discharge capacity of Piano Key weir units. It is essential to obtain a head-discharge relation for a Piano Key weir with different head over weirs, h, to understand the effect of specific parameters on the discharge capacity. In order to achieve this, all these 29 models are investigated with different head over weirs within the range of 1 to 4 meters. In other words, a total number of 145 simulations are executed with different objectives.

In the present study, discharge values integrated from velocity fields for different head over weirs are given in tables for each investigation and it can be seen in Figure 10 that the discharge passing through the crest of the Piano Key weir is represented as Q_{pkw} and separated into Q_{in} , Q_{out} and Q_{side} to see the effects of the weir components on the discharge capacity.

In Figure 10, the discharge passing through the downstream of the inlet key is represented as Q_{in} and the crest line where Q_{in} passes through is marked with blue. Secondly, the discharge passing through the upstream of the outlet key is represented as Q_{out} and the crest line where Q_{out} passes through is marked with yellow line. Lastly, the discharge passing through the sidewall from the inlet key through the outlet key is represented as Q_{side} and the crest line where Q_{side} passes through is marked with yellow line. Lastly, the discharge passing through the sidewall from the inlet key through the outlet key is represented as Q_{side} and the crest line where Q_{side} passes through is marked with red line.



Figure 10: Discharge Passing Through the Crest of the Piano Key Weir

It is important to interpret discharge passing through the crest and therefore a parameter is needed to compare the discharge values obtained each investigation. In order to assess the efficiency of a Piano Key weir, the discharge values obtained here are compared with a sharp crested (linear) weir situated on the same width, W. Plan views of both weirs on the same weir width can be seen in Figure 11.



Figure 11: Plan Views of Piano Key and Linear Weirs

In the present study, the weir equations given in Gharahjeh et al. (2015) was used to calculate the discharge of linear weirs to define discharge efficiency parameter, r, for each investigation. Discharge efficiencies of each investigation for the present study can be calculated by using Eqn. 1 given below.

$$r = \frac{Q_{Piano\ Key\ weir}}{Q_{Sharp\ Crested\ weir}} \qquad Eqn.\,1$$

The weir equations generated as function of geometry in Gharahjeh et al. (2015) are given in Eqn. 2 and Eqn. 3 below.

$$Q_{Sharp\ Crested\ weir} = V_w.W.h$$
 Eqn. 2

$$V_w = c\sqrt{2gh}$$
 Eqn. 3

In Eqn. 2, W represents the total width of the weir and h represents the head over weir. With all these, c presented in Eqn. 3 is the dimensionless constant for a given weir which is obtained from experimental data. For the present conditions, the c value can be obtained as 0.4744.

4.1.1. Investigation of the Effect of the Weir Height

The results of the investigation of the weir height, P, and its relationship with the unit width, W_u , showed that weir height, P, has a great impact on the discharge efficiency. 5 models have been generated with constant unit weir width (W_u =5.80 m), symmetrical overhang lengths (B_i = B_o =2.90 m), with a constant weir length (B=11.60 m) and consequently, a constant developed length along the crest of Piano Key weir unit (L_u =29 m). Discharge capacities obtained for different water heads from the results of 5 models for the investigation of the effect of the weir height, P, are shown in Table 13-17 below.

Model	h (m)	h/P	P (m)	P/W _u	P/B	$\mathbf{S}_{\mathbf{i}}$	So	Q in (%)	Q _{out} (%)	Q _{side} (%)	Q _{pkw} (m ³ /s)
	4.00	1.60	2.50	0.43	0.22	0.30	0.30	21.72	31.07	47.21	113.33
	3.25	1.30	2.50	0.43	0.22	0.30	0.30	19.36	28.80	51.84	87.91
Model 1	2.50	1.00	2.50	0.43	0.22	0.30	0.30	17.64	25.82	56.54	64.16
1	1.75	0.70	2.50	0.43	0.22	0.30	0.30	16.96	22.07	60.97	42.69
	1.00	0.40	2.50	0.43	0.22	0.30	0.30	15.54	17.58	66.88	23.19

Table 13: Discharge Values for the Investigation of the Effect of the Weir Height for Model 1

 Table 14: Discharge Values for the Investigation of the Effect of the Weir Height for Model 2

Model	h (m)	h/P	P (m)	P/W _u	P/B	Si	So	Q in (%)	Q _{out} (%)	Q side (%)	Q _{pkw} (m ³ /s)
	4.00	0.80	5.00	0.86	0.43	0.60	0.60	20.58	25.21	54.21	162.46
14.11	3.25	0.65	5.00	0.86	0.43	0.60	0.60	19.83	23.13	57.04	132.10
Model 2	2.50	0.50	5.00	0.86	0.43	0.60	0.60	19.15	20.72	60.13	102.44
-	1.75	0.35	5.00	0.86	0.43	0.60	0.60	16.11	17.46	66.43	71.75
	1.00	0.20	5.00	0.86	0.43	0.60	0.60	13.21	14.19	72.60	38.47

Table 15: Discharge Values for the Investigation of the Effect of the Weir Height for Model 3

Model	h (m)	h/P	P (m)	P/W _u	P/B	$\mathbf{S}_{\mathbf{i}}$	So	Q in (%)	Q out (%)	Q side (%)	Q _{pkw} (m ³ /s)
	4.00	0.53	7.50	1.29	0.65	0.90	0.90	22.38	23.98	53.63	182.76
	3.25	0.43	7.50	1.29	0.65	0.90	0.90	21.07	21.84	57.09	149.31
Model 3	2.50	0.33	7.50	1.29	0.65	0.90	0.90	19.09	19.58	61.33	116.23
5	1.75	0.23	7.50	1.29	0.65	0.90	0.90	16.03	16.68	67.28	80.96
	1.00	0.13	7.50	1.29	0.65	0.90	0.90	12.71	13.31	73.98	42.68

Table 16: Discharge Values for the Investigation of the Effect of the Weir Height for Model 4

Model	h (m)	h/P	P (m)	P/W _u	P/B	$\mathbf{S}_{\mathbf{i}}$	So	Q in (%)	Q _{out} (%)	Q side (%)	Q _{pkw} (m ³ /s)
	4.00	0.40	10.00	1.72	0.86	1.20	1.20	23.17	23.12	53.72	190.28
	3.25	0.33	10.00	1.72	0.86	1.20	1.20	22.05	20.92	57.02	156.01
Model 4	2.50	0.25	10.00	1.72	0.86	1.20	1.20	18.82	18.81	62.37	120.81
	1.75	0.18	10.00	1.72	0.86	1.20	1.20	15.63	16.08	68.29	84.69
	1.00	0.10	10.00	1.72	0.86	1.20	1.20	12.46	12.88	74.66	44.88

Model	h (m)	h/P	P (m)	P/W _u	P/B	$\mathbf{S}_{\mathbf{i}}$	$\mathbf{S}_{\mathbf{o}}$	Q in (%)	Q _{out} (%)	Q _{side} (%)	Q _{pkw} (m ³ /s)
	4.00	0.32	12.50	2.16	1.08	1.51	1.51	23.45	22.63	53.92	194.04
	3.25	0.26	12.50	2.16	1.08	1.51	1.51	20.69	20.73	58.58	159.15
Model 5	2.50	0.20	12.50	2.16	1.08	1.51	1.51	18.01	18.65	63.34	124.25
Ũ	1.75	0.14	12.50	2.16	1.08	1.51	1.51	15.15	15.91	68.94	87.18
	1.00	0.08	12.50	2.16	1.08	1.51	1.51	12.23	12.80	74.97	46.07

Table 17: Discharge Values for the Investigation of the Effect of the Weir Height for Model 5

For a constant water depth, as the weir height, P, increases; the discharge capacity of the Piano Key weir unit increases. However, the rate of this increase in the discharge capacity is larger for small weir heights and it decreases with increasing weir height. For example, for water depth of 2.50 m, the capacity increase by increasing the weir height from 10 m to 12.50 m is only 2.85%. This result agrees with the findings of the recent studies except the outcome that Machiels et al. (2014) stated. In their study, it was expressed that the weir height, P, has no effect on the discharge efficiency for the values of P/W_u greater than 1. It can be seen in the Figure 12 that discharge capacity slightly increases for the values of the ratio P/W_u equals to 1.29, 1.72 and 2.15.



Figure 12: Head-Discharge Relation of the Models for the Investigation of the Effect of the Weir Height

The reason for the increase of the discharge capacity as the weir height, P, increases were expressed before by recent studies. In the present investigation, all the values of the discharge evacuated from the crest of the inlet, outlet and sidewall were highlighted and percentages of the distributions of the discharge evacuation of these parts are given in the Table 13-17 above. In all the cases investigated the percentage of the total discharge passing through the front of the inlet and outlet keys increases as the water depth increases. On the other hand, the percentage of the total discharge passing through the sides decreases with the increase in the water depth. The contributions from the back of the inlet, front of the outlet and sides are not sensitive to the weir height, P. This result can be explained with the statements of Lefebvre et al. (2013) and Machiels et al. (2014). It can be said that the discharge efficiency can be increased by increasing the weir height, P, in order to increase the occurrence of the submergence.



Figure 13: Head-Discharge Efficiency Relation of the Models for the Investigation of the Effect of the Weir Height

In all the models as the water depth increases, efficiency decreases. This means that for larger flow depths, Piano Key weir units will work more like a sharp crested weir as it can be seen in Figure 13. Another important conclusion obtained here is the increase of the discharge efficiencies as the weir height, P, increases. However, the rate of this increase decreases with the increasing weir height, P.

The design criteria for selecting the weir height of a Piano Key weir, P, is very important for both hydraulic and economic purposes. It was mentioned before by many researchers that as the weir height, P, increases, the efficiency decreases, and construction cost increases rapidly. So that, an optimal ratio for the ratio of P/W_u should be selected in the design process. As it was stated by Erpicum et al. (2014), the height of a Piano Key weir, P, is a function of absolute values of the upstream head. It can be seen in Figure 14 that the model with the ratio of P/W_u equals to 0.43 (P=2.50 m) has nearly the same discharge efficiency with all the other models for the ratio of h/P equals to 0.40. In other words, depending on the upstream water depth, a smaller Piano Key weir unit may be a better choice as it will give more or less the same efficiency with the large Piano Key weir units with a much smaller cost.



Figure 14: Dimensionless ratio of h/P-Discharge Efficiency Relation of the Models for the Investigation of the Effect of the Weir Height

4.1.2. Investigation of the Effect of the Crest Length

The effect of the crest length on the discharge capacity of a Piano Key weir is investigated with 10 models with constant unit widths (W_u =5.80 m) with varying L/W or L_u/W_u ratios of 3, 4, 5, 6 and 7 as it can be seen in Table 7. Each model is created with 2 different weir heights of P=5 m and P=10 m to see the possible effect of the weir height, P, on varying developed crest length along the crest of Piano Key weir, L_u , for the discharge capacity. Discharge capacities obtained for different water heads from the results of 10 models for the investigation of the effect of the crest length are shown in Tables 18-27 below.

Model	h	h/P	P (m)	Wu (m)	B (m)	Lu (m)	Lu/W u	Q in (%)	Q out (%)	Q side (%)	Q pkw (m3/s)
	4.00	0.80	5.00	5.80	5.80	17.40	3.00	31.65	32.52	35.83	130.90
	3.25	0.65	5.00	5.80	5.80	17.40	3.00	29.24	30.94	39.82	103.59
Model	2.50	0.50	5.00	5.80	5.80	17.40	3.00	27.16	28.78	44.07	77.48
22	1.75	0.35	5.00	5.80	5.80	17.40	3.00	24.95	25.65	49.39	51.84
	1.00	0.20	5.00	5.80	5.80	17.40	3.00	21.08	21.72	57.20	25.97

 Table 18: Discharge Values for the Investigation of the Effect of the Crest Length for Model 22

Model	h	h/P	P (m)	W _u (m)	B (m)	L _u (m)	L _u /W _u	Q in (%)	Q _{out} (%)	Q side (%)	Q _{pkw} (m ³ /s)
	4.00	0.80	5.00	5.80	8.70	23.20	4.00	24.82	27.98	47.20	154.01
	3.25	0.65	5.00	5.80	8.70	23.20	4.00	23.62	26.20	50.19	124.06
Model 23	2.50	0.50	5.00	5.80	8.70	23.20	4.00	22.07	23.79	54.14	92.95
25	1.75	0.35	5.00	5.80	8.70	23.20	4.00	19.95	20.65	59.40	64.83
	1.00	0.20	5.00	5.80	8.70	23.20	4.00	15.89	16.66	67.45	33.49

Table 19: Discharge Values for the Investigation of the Effect of the Crest Length for Model 23

Table 20: Discharge Values for the Investigation of the Effect of the Crest Length for Model 2

Model	h	h/P	P (m)	Wu (m)	B (m)	L _u (m)	L _u /W _u	Q in (%)	Q out (%)	Q side (%)	Q _{pkw} (m ³ /s)
	4.00	0.80	5.00	5.80	11.60	29.00	5.00	20.58	25.21	54.21	162.46
	3.25	0.65	5.00	5.80	11.60	29.00	5.00	19.83	23.13	57.04	132.10
Model 2	2.50	0.50	5.00	5.80	11.60	29.00	5.00	19.15	20.72	60.13	102.44
2	1.75	0.35	5.00	5.80	11.60	29.00	5.00	16.11	17.46	66.43	71.75
	1.00	0.20	5.00	5.80	11.60	29.00	5.00	13.21	14.19	72.60	38.47

Model	h	h/P	P (m)	W _u (m)	B (m)	L _u (m)	L _u /W _u	Q in (%)	Q _{out} (%)	Q _{side} (%)	Q _{pkw} (m ³ /s)
	4.00	0.80	5.00	5.80	14.50	34.80	6.00	17.61	22.81	59.58	169.36
	3.25	0.65	5.00	5.80	14.50	34.80	6.00	17.05	20.65	62.30	139.38
Model 24	2.50	0.50	5.00	5.80	14.50	34.80	6.00	15.78	17.98	66.24	109.04
21	1.75	0.35	5.00	5.80	14.50	34.80	6.00	13.15	15.00	71.85	78.20
	1.00	0.20	5.00	5.80	14.50	34.80	6.00	10.83	11.79	77.38	43.62

Table 21: Discharge Values for the Investigation of the Effect of the Crest Length for Model 24

Table 22: Discharge Values for the Investigation of the Effect of the Crest Length for Model 25

Model	h	h/P	P (m)	Wu (m)	B (m)	L _u (m)	L _u /W _u	Q in (%)	Q _{out} (%)	Q _{side} (%)	Q _{pkw} (m ³ /s)
	4.00	0.80	5.00	5.80	17.40	40.60	7.00	15.54	21.37	63.09	174.33
	3.25	0.65	5.00	5.80	17.40	40.60	7.00	14.85	19.18	65.97	143.64
Model 25	2.50	0.50	5.00	5.80	17.40	40.60	7.00	13.82	16.29	69.89	114.05
25	1.75	0.35	5.00	5.80	17.40	40.60	7.00	12.05	13.25	74.69	83.16
	1.00	0.20	5.00	5.80	17.40	40.60	7.00	9.90	10.32	79.78	47.73

Table 23: Discharge Values for the Investigation of the Effect of the Crest Length for Model 26

Model	h	h/P	P (m)	Wu (m)	B (m)	L _u (m)	L _u /W _u	Q in (%)	Q _{out} (%)	Q _{side} (%)	Q _{pkw} (m ³ /s)
	4.00	0.40	10.00	5.80	5.80	17.40	3.00	31.39	31.17	37.44	129.52
	3.25	0.33	10.00	5.80	5.80	17.40	3.00	28.86	29.31	41.83	103.37
Model 26	2.50	0.25	10.00	5.80	5.80	17.40	3.00	26.48	26.95	46.57	77.77
20	1.75	0.18	10.00	5.80	5.80	17.40	3.00	23.45	24.39	52.15	53.40
	1.00	0.10	10.00	5.80	5.80	17.40	3.00	20.02	21.10	58.88	27.08

Table 24: Discharge Values for the Investigation of the Effect of the Crest Length for Model 27

Model	h	h/P	P (m)	W _u (m)	B (m)	L _u (m)	L _u /W _u	Q in (%)	Q out (%)	Q side (%)	Q _{pkw} (m ³ /s)
	4.00	0.40	10.00	5.80	8.70	23.20	4.00	25.56	26.48	47.96	164.56
	3.25	0.33	10.00	5.80	8.70	23.20	4.00	23.85	24.33	51.82	133.31
Model 27	2.50	0.25	10.00	5.80	8.70	23.20	4.00	21.72	22.21	56.07	103.12
	1.75	0.18	10.00	5.80	8.70	23.20	4.00	18.12	19.36	62.51	71.40
	1.00	0.10	10.00	5.80	8.70	23.20	4.00	15.19	15.76	69.05	36.76

Model	h	h/P	P (m)	W _u (m)	B (m)	L _u (m)	L _u /W _u	Q in (%)	Q _{out} (%)	Q _{side} (%)	Q _{pkw} (m ³ /s)
	4.00	0.40	10.00	5.80	11.60	29.00	5.00	23.17	23.12	53.72	190.28
	3.25	0.33	10.00	5.80	11.60	29.00	5.00	22.05	20.92	57.02	156.01
Model 4	2.50	0.25	10.00	5.80	11.60	29.00	5.00	18.82	18.81	62.37	120.81
•	1.75	0.18	10.00	5.80	11.60	29.00	5.00	15.63	16.08	68.29	84.69
	1.00	0.10	10.00	5.80	11.60	29.00	5.00	12.46	12.88	74.66	44.88

Table 25: Discharge Values for the Investigation of the Effect of the Crest Length for Model 4

Table 26: Discharge Values for the Investigation of the Effect of the Crest Length for Model 28

Model	h	h/P	P (m)	Wu (m)	B (m)	L _u (m)	L _u /W _u	Q in (%)	Q _{out} (%)	Q _{side} (%)	Q _{pkw} (m ³ /s)
	4.00	0.40	10.00	5.80	14.50	34.80	6.00	20.56	20.11	59.34	215.02
	3.25	0.33	10.00	5.80	14.50	34.80	6.00	19.28	18.26	62.46	177.94
Model 28	2.50	0.25	10.00	5.80	14.50	34.80	6.00	15.79	16.29	67.92	139.10
20	1.75	0.18	10.00	5.80	14.50	34.80	6.00	13.01	13.75	73.24	98.63
	1.00	0.10	10.00	5.80	14.50	34.80	6.00	10.15	10.75	79.10	53.00

Table 27: Discharge Values for the Investigation of the Effect of the Crest Length for Model 29

Model	h	h/P	P (m)	Wu (m)	B (m)	L _u (m)	L _u /W _u	Q in (%)	Q _{out} (%)	Q side (%)	Q _{pkw} (m ³ /s)
	4.00	0.40	10.00	5.80	17.40	40.60	7.00	18.31	18.36	63.33	239.33
	3.25	0.33	10.00	5.80	17.40	40.60	7.00	16.63	16.52	66.85	198.35
Model 29	2.50	0.25	10.00	5.80	17.40	40.60	7.00	13.53	14.43	72.04	156.43
27	1.75	0.18	10.00	5.80	17.40	40.60	7.00	10.94	11.98	77.08	111.61
	1.00	0.10	10.00	5.80	17.40	40.60	7.00	8.59	9.29	82.13	60.38

As expected, the results of the investigation of the developed crest length along the crest of Piano Key weir, L_u , and its relationship with the unit width, W_u , has a great impact on the discharge efficiency. It can be seen in the Figure 15 that as the ratio of L_u/W_u increases, discharge capacity also increases.



Figure 15: Head-Discharge Relation of the Models for the Investigation of the Effect of the Crest Length

It can be concluded from Figure 16 that for a given weir height, P, as the L_u/W_u increases, the discharge efficiency of a Piano Key weir increases. However, the discharge efficiency decreases with the increase of head over weir. It was stated by Ouamane (2011) that this phenomenon is more significant for the weirs with large values of the ratio of the elongation of the crest, L_u .



Figure 16: Head-Discharge Efficiency Relation of the Models for the Investigation of the Effect of the Crest Length

It was also found that the rate of increase of discharge values are not same for the models with the same L_u/W_u ratios for different Piano Key weir heights, P. For example, the rate of the increase of the discharge values of $L_u/W_u = 3$ and L/W=4 for the models with weir height P=5 m is in the range between 17% and 29% for all head over weirs. On the other hand, these values are in the range between 27% and 36% for the other model with weir height P=10 m. The increase of the rate of the discharge values decreases as the ratio of L_u/W_u increases, however, the increase of the rate of the discharge values of the models with P=5 m. It should be noted that at small water depths, increasing L_u/W_u ratio results in a larger percent of increase in the discharge. On the other hand, at larger flow depths, increase percentage is smaller.

4.1.3. Investigation of the Effect of the Weir Width

An investigation is performed to understand the effect of the relation of the inlet and outlet key widths, W_i and W_o . 11 models have been developed with constant weir height (P=5 m), unit weir width (W_u =5.80 m), symmetrical overhang lengths (B_i = B_o =2.90 m), constant weir length (B=11.60 m) and consequently constant developed length along the crest of unit Piano Key weir (L_u =29 m). All the results of 11 models for investigating the effect of the ratio of inlet and outlet key widths, W_i/W_o , are shown in Tables 28-38 below.

Model	h (m)	h/P	Wi (m)	Wo (m)	W_i/W_o	Q in %	Q out %	Q side %	Q _{pkw} (m ³ /s)
	4.00	0.80	2.50	2.50	1.00	20.58	25.21	54.21	162.46
	3.25	0.65	2.50	2.50	1.00	19.83	23.13	57.04	132.10
Model 2	2.50	0.50	2.50	2.50	1.00	19.15	20.72	60.13	102.44
	1.75	0.35	2.50	2.50	1.00	16.11	17.46	66.43	71.75
	1.00	0.20	2.50	2.50	1.00	13.21	14.19	72.60	38.47

Table 28: Discharge Values for the Investigation of the Effect of the Weir Width for Model 2

Model	h (m)	h/P	W _i (m)	Wo (m)	W_i/W_o	Q in %	Q _{out} %	Q side %	Q _{pkw} (m ³ /s)
	4.00	0.80	2.62	2.38	1.10	21.88	23.21	54.91	163.01
	3.25	0.65	2.62	2.38	1.10	20.50	21.25	58.25	131.59
Model 12	2.50	0.50	2.62	2.38	1.10	19.27	18.89	61.84	102.18
12	1.75	0.35	2.62	2.38	1.10	17.02	16.08	66.90	72.22
	1.00	0.20	2.62	2.38	1.10	13.75	11.70	74.55	39.26

Table 29: Discharge Values for the Investigation of the Effect of the Weir Width for Model 12

Table 30: Discharge Values for the Investigation of the Effect of the Weir Width for Model 13

Model	h (m)	h/P	W _i (m)	W _o (m)	Wi/Wo	Q in %	Q _{out} %	Q side %	Q _{pkw} (m ³ /s)
	4.00	0.80	2.73	2.27	1.20	19.86	22.86	57.28	169.29
	3.25	0.65	2.73	2.27	1.20	19.35	20.75	59.91	136.90
Model 13	2.50	0.50	2.73	2.27	1.20	19.16	18.40	62.44	106.14
15	1.75	0.35	2.73	2.27	1.20	17.02	15.59	67.39	74.26
	1.00	0.20	2.73	2.27	1.20	13.95	12.52	73.52	39.74

Table 31: Discharge Values for the Investigation of the Effect of the Weir Width for Model 14

Model	h (m)	h/P	Wi (m)	Wo (m)	W_i/W_o	Q in %	Q _{out} %	Q side %	Q _{pkw} (m ³ /s)
	4.00	0.80	2.83	2.17	1.30	21.11	20.86	58.03	166.93
	3.25	0.65	2.83	2.17	1.30	22.57	19.07	58.37	133.07
Model 14	2.50	0.50	2.83	2.17	1.30	20.91	16.90	62.20	103.91
	1.75	0.35	2.83	2.17	1.30	18.08	14.26	67.66	73.89
	1.00	0.20	2.83	2.17	1.30	14.60	11.52	73.88	39.91

Table 32: Discharge Values for the Investigation of the Effect of the Weir Width for Model 15

Model	h (m)	h/P	W _i (m)	Wo (m)	W _i /W _o	Q in %	Q out %	Q side %	Q _{pkw} (m ³ /s)
	4.00	0.80	2.92	2.08	1.40	26.28	20.57	53.15	163.18
	3.25	0.65	2.92	2.08	1.40	24.06	18.76	57.18	133.66
Model 15	2.50	0.50	2.92	2.08	1.40	21.99	16.56	61.45	104.80
15	1.75	0.35	2.92	2.08	1.40	18.29	13.91	67.80	74.60
	1.00	0.20	2.92	2.08	1.40	14.69	11.19	74.13	40.36

Model	h (m)	h/P	W _i (m)	W. (m)	W_i/W_o	Q in %	Q _{out} %	Q side %	Q _{pkw} (m ³ /s)
	4.00	0.80	3.00	2.00	1.50	23.10	20.47	56.42	166.61
	3.25	0.65	3.00	2.00	1.50	21.93	18.56	59.50	135.53
Model 16	2.50	0.50	3.00	2.00	1.50	21.12	16.42	62.46	105.12
10	1.75	0.35	3.00	2.00	1.50	18.41	13.87	67.72	75.56
	1.00	0.20	3.00	2.00	1.50	14.67	10.96	74.36	40.82

Table 33: Discharge Values for the Investigation of the Effect of the Weir Width for Model 16

Table 34: Discharge Values for the Investigation of the Effect of the Weir Width for Model 17

Model	h (m)	h/P	W _i (m)	W _o (m)	W _i /W _o	Q in %	Q _{out} %	Q side %	Q _{pkw} (m ³ /s)
	4.00	0.80	3.08	1.92	1.60	28.86	18.82	52.33	160.63
	3.25	0.65	3.08	1.92	1.60	26.15	17.11	56.74	131.21
Model 17	2.50	0.50	3.08	1.92	1.60	23.08	15.05	61.87	103.12
17	1.75	0.35	3.08	1.92	1.60	18.14	12.55	69.31	75.28
	1.00	0.20	3.08	1.92	1.60	15.40	9.97	74.63	40.99

Table 35: Discharge Values for the Investigation of the Effect of the Weir Width for Model 18

Model	h (m)	h/P	W _i (m)	Wo (m)	W_i/W_o	Q in %	Q _{out} %	Q side %	Q _{pkw} (m ³ /s)
	4.00	0.80	3.15	1.85	1.70	26.53	18.48	54.99	165.80
	3.25	0.65	3.15	1.85	1.70	23.12	16.82	60.06	137.44
Model 18	2.50	0.50	3.15	1.85	1.70	21.83	14.71	63.46	107.05
10	1.75	0.35	3.15	1.85	1.70	19.18	12.53	68.29	76.73
	1.00	0.20	3.15	1.85	1.70	15.53	9.91	74.56	40.86

Table 36: Discharge Values for the Investigation of the Effect of the Weir Width for Model 19

Model	h (m)	h/P	W _i (m)	W _o (m)	W _i /W _o	Q in %	Q _{out} %	Q side %	Q _{pkw} (m ³ /s)
	4.00	0.80	3.21	1.79	1.80	27.12	18.49	54.39	165.42
	3.25	0.65	3.21	1.79	1.80	23.56	16.66	59.78	135.32
Model 19	2.50	0.50	3.21	1.79	1.80	23.37	14.72	61.91	105.82
17	1.75	0.35	3.21	1.79	1.80	19.80	12.30	67.90	75.39
	1.00	0.20	3.21	1.79	1.80	15.52	9.66	74.82	41.14

Model	h (m)	h/P	W _i (m)	W _o (m)	W_i/W_o	Q in %	Q _{out} %	Q side %	$\begin{array}{c} Q_{pkw} \\ (m^3\!/\!s) \end{array}$
	4.00	0.80	3.28	1.72	1.90	31.48	16.83	51.68	161.66
	3.25	0.65	3.28	1.72	1.90	29.70	15.31	54.99	130.64
Model 20	2.50	0.50	3.28	1.72	1.90	25.59	13.35	61.06	102.50
20	1.75	0.35	3.28	1.72	1.90	21.05	11.12	67.82	73.85
	1.00	0.20	3.28	1.72	1.90	16.37	8.77	74.87	41.37

Table 37: Discharge Values for the Investigation of the Effect of the Weir Width for Model 20

Table 38: Discharge Values for the Investigation of the Effect of the Weir Width for Model 21

Model	h (m)	h/P	W _i (m)	W _o (m)	Wi/Wo	Q in %	Q out %	Q side %	Q _{pkw} (m ³ /s)
	4.00	0.80	3.33	1.67	2.00	34.18	16.51	49.31	157.97
	3.25	0.65	3.33	1.67	2.00	30.65	14.97	54.38	129.68
Model 21	2.50	0.50	3.33	1.67	2.00	26.39	13.11	60.50	102.15
21	1.75	0.35	3.33	1.67	2.00	21.52	11.00	67.47	74.37
	1.00	0.20	3.33	1.67	2.00	16.53	8.61	74.86	40.79

Head-discharge relation for different weir width ratios, W_i/W_o , can be seen in Figure 17. It can be said that the effect of the weir width ratio W_i/W_o on the total discharge changes with respect to the incoming water depth. For small incoming water depths W_i/W_o ratio has nearly no effect on the discharge capacity. Lefebvre et al. (2013) also stated that the optimal value for the ratio W_i/W_o is lower for small incoming heads. It was also found that discharge capacity increases for large water depths, as W_i/W_o decreases into 1. This phenomenon agrees with the findings of Pralong et al. (2011). It was before mentioned in their study that the optimal ratio becomes lower for higher heads.

It is important to note that for the design of Piano Key weirs, it is the same cost to increase the inlet width, W_i and decrease the outlet width, W_o . However, it was clarified by Machiels et al. (2012d) that too narrow outlets may be unable to evacuate the flow under supercritical conditions and result in the decrease of the discharge efficiency so that selection of the ratio of Wi/Wo as 1 appears good because of playing minor roles on the discharge capacity considering economic and hydraulic conditions.



Figure 17: Head-Discharge Relation of the Models for the Investigation of the Effect of the Weir Width

Water depth-discharge efficiency curve for various W_i/W_o ratios are also given Figure 18. As it can be seen from this figure, there is no correlation in between discharge efficiency and W_i/W_o ratio.



Figure 18: Head-Discharge Efficiency Relation of the Models for the Investigation of the Effect of the Weir Width

4.1.4. Investigation of the Effect of the Overhang Lengths

The results of the investigation of the overhang lengths, B_i and B_o and their effect on the discharge capacity of the Piano Key weir is investigated with 8 models with varying weir heights, P, as it can be seen in Table 7. Models have been generated with constant unit weir width (W_u =5.80 m), constant weir length (B=11.60 m) and consequently constant developed length along the crest of Piano Key weir unit (L_u =29 m). Discharge capacities obtained for different water heads from the results of 8 models for the investigation of the effect of the overhang lengths, B_i and B_o , are shown in Tables 39-46 below.

Model	h	h/P	B _i (m)	B _o (m)	B _i /B _o	B (m)	Q in (%)	Q _{out} (%)	Q side (%)	Q _{pkw} (m ³ /s)
	4.00	0.80	2.90	2.90	1.00	11.60	20.58	25.21	54.21	162.46
	3.25	0.65	2.90	2.90	1.00	11.60	19.83	23.13	57.04	132.10
Model 2	2.50	0.50	2.90	2.90	1.00	11.60	19.15	20.72	60.13	102.44
	1.75	0.35	2.90	2.90	1.00	11.60	16.11	17.46	66.43	71.75
	1.00	0.20	2.90	2.90	1.00	11.60	13.21	14.19	72.60	38.47

 Table 39: Discharge Values for the Investigation of the Effect of the Overhang Lengths for Model 2

Та	ble 40: Dis	charge Va	lues for the	e Investige	ation of the	Effect of	the Overho	ing Length	ts for Mode	el 6

Model	h	h/P	B _i (m)	B _o (m)	B _i /B _o	B (m)	Q in (%)	Q _{out} (%)	Q side (%)	$\begin{array}{c} Q_{pkw} \\ (m^3\!/\!s) \end{array}$
	4.00	0.80	1.93	3.87	0.50	11.60	21.77	23.84	54.39	166.61
	3.25	0.65	1.93	3.87	0.50	11.60	20.50	21.74	57.76	136.61
Model 6	2.50	0.50	1.93	3.87	0.50	11.60	19.15	19.14	61.71	106.30
0	1.75	0.35	1.93	3.87	0.50	11.60	16.38	16.13	67.49	74.89
	1.00	0.20	1.93	3.87	0.50	11.60	12.93	12.95	74.12	40.36

Table 41: Discharge Values for the Investigation of the Effect of the Overhang Lengths for Model 7

Model	h	h/P	B _i (m)	B _o (m)	$\mathbf{B}_{i}/\mathbf{B}_{o}$	B (m)	Q in (%)	Q _{out} (%)	Q side (%)	Q _{pkw} (m ³ /s)
	4.00	0.80	1.45	4.35	0.33	11.60	22.58	23.14	54.28	168.38
	3.25	0.65	1.45	4.35	0.33	11.60	20.81	20.95	58.24	137.88
Model 7	2.50	0.50	1.45	4.35	0.33	11.60	18.97	18.32	62.71	107.56
-	1.75	0.35	1.45	4.35	0.33	11.60	16.45	15.52	68.02	76.96
	1.00	0.20	1.45	4.35	0.33	11.60	12.63	12.36	75.00	41.33

Model	h	h/P	B _i (m)	B _o (m)	$\mathbf{B}_{\mathbf{i}} / \mathbf{B}_{\mathbf{o}}$	B (m)	Q in (%)	Q _{out} (%)	Q side (%)	Q _{pkw} (m ³ /s)
	4.00	0.80	0.00	5.80	0.00	11.60	24.77	21.46	53.76	169.37
	3.25	0.65	0.00	5.80	0.00	11.60	22.36	19.30	58.34	138.78
Model 8	2.50	0.50	0.00	5.80	0.00	11.60	19.82	16.85	63.33	108.65
0	1.75	0.35	0.00	5.80	0.00	11.60	16.81	14.02	69.17	77.29
	1.00	0.20	0.00	5.80	0.00	11.60	12.68	11.32	76.00	42.39

Table 42: Discharge Values for the Investigation of the Effect of the Overhang Lengths for Model 8

Table 43: Discharge Values for the Investigation of the Effect of the Overhang Lengths for Model 4

Model	h	h/P	B _i (m)	B _o (m)	B _i /B _o	B (m)	Q in (%)	Q _{out} (%)	Q side (%)	Q _{pkw} (m ³ /s)
	4.00	0.40	2.90	2.90	1.00	11.60	23.17	23.12	53.72	190.28
	3.25	0.33	2.90	2.90	1.00	11.60	22.05	20.92	57.02	156.01
Model 4	2.50	0.25	2.90	2.90	1.00	11.60	18.82	18.81	62.37	120.81
•	1.75	0.18	2.90	2.90	1.00	11.60	15.63	16.08	68.29	84.69
	1.00	0.10	2.90	2.90	1.00	11.60	12.46	12.88	74.66	44.88

Table 44: Discharge Values for the Investigation of the Effect of the Overhang Lengths for Model 9

Model	h	h/P	B _i (m)	B _o (m)	B _i /B _o	B (m)	Q in (%)	Q _{out} (%)	Q side (%)	Q _{pkw} (m ³ /s)
	4.00	0.40	1.93	3.87	0.50	11.60	23.20	22.44	54.35	193.81
	3.25	0.33	1.93	3.87	0.50	11.60	21.69	20.35	57.96	159.38
Model 9	2.50	0.25	1.93	3.87	0.50	11.60	17.90	18.52	63.58	124.80
9	1.75	0.18	1.93	3.87	0.50	11.60	15.15	15.65	69.20	87.41
	1.00	0.10	1.93	3.87	0.50	11.60	12.29	12.51	75.20	45.85

Table 45: Discharge Values for the Investigation of the Effect of the Overhang Lengths for Model 10

Model	h	h/P	B _i (m)	B _o (m)	B _i /B _o	B (m)	Q in (%)	Q _{out} (%)	Q side (%)	Q _{pkw} (m ³ /s)
	4.00	0.40	1.45	4.35	0.33	11.60	23.28	22.08	54.64	195.92
	3.25	0.33	1.45	4.35	0.33	11.60	21.25	20.22	58.53	161.90
Model 10	2.50	0.25	1.45	4.35	0.33	11.60	17.66	18.11	64.23	126.39
	1.75	0.18	1.45	4.35	0.33	11.60	14.89	15.62	69.49	88.77
	1.00	0.10	1.45	4.35	0.33	11.60	12.11	12.36	75.53	46.60

Model	h	h/P	B _i (m)	B _o (m)	$\mathbf{B}_{\mathbf{i}}/\mathbf{B}_{\mathbf{o}}$	B (m)	Q in (%)	Q _{out} (%)	Q side (%)	Q _{pkw} (m ³ /s)
	4.00	0.40	0.00	5.80	0.00	11.60	23.00	21.20	55.80	199.90
	3.25	0.33	0.00	5.80	0.00	11.60	19.42	19.39	61.19	164.47
Model 11	2.50	0.25	0.00	5.80	0.00	11.60	16.85	17.25	65.90	129.53
11	1.75	0.18	0.00	5.80	0.00	11.60	14.21	14.60	71.19	91.42
	1.00	0.10	0.00	5.80	0.00	11.60	11.90	11.92	76.18	47.65

Table 46: Discharge Values for the Investigation of the Effect of the Overhang Lengths for Model 11

The results show that for a given weir height, P, and flow depth as the ratio of B_i/B_o decreases, discharge capacity of a Piano Key weir increases. It is shown in Figure 19 that highest discharge values are obtained as the ratio of B_i/B_o becomes zero, regardless of the Piano Key weir height, P. This conclusion agrees with the findings that Lempérière and Ouamane (2006). In their study, it was found that the model without downstream overhangs, B_i , showed higher discharge efficiency than the models with downstream overhangs, B_i . This phenomenon can be explained with flow contractions and energy loss. As the length of the upstream overhang, B_o , increases, the area and wetted perimeter in the inlet key increases which results in an increase in the discharge capacity because of decreasing the flow velocities, flow contractions and energy loss.



Figure 19: Head-Discharge Relation of the Models for the Investigation of the Effect of the Overhang Lengths



Figure 20: Head-Discharge Efficiency Relation of the Models for the Investigation of the Effect of the Overhang Lengths

For a given weir height, P, the rate of change between the maximum and minimum discharge values for different B_i/B_o ratios ranges between 5% to 10%. The figures for the relation of discharge efficiencies and water heads for all the models can be seen in Figures 20 above. It can be said that for a given weir height, P, as the B_i/B_o ratio decreases, discharge efficiency slightly increases. It was before mentioned by Pralong et al (2011) that the ratio of the lengths of the upstream and downstream overhangs, B_o and B_i are not sensitive parameter because of the insignificant gains on the discharge.

CHAPTER 5

DESIGN PROCESS

5.1. Design of the Piano Key Weirs

In the present study, important parameters that have an influence on the discharge capacity of Piano Key weirs have been investigated separately to develop a design process for Piano Key weirs. It was concluded that the weir height, P, and the developed length along the crest of a Piano Key weir unit, L_u , are the major parameters on the discharge capacity. At the same time, the effects of the ratio of the inlet and outlet key widths, W_i/W_o , and the ratio of the inlet and outlet overhang lengths, B_i/B_o , were found to play minor roles on the discharge capacity so that these parameters can be considered as insignificant on the design phase.

In the design stage, the head over weir, h, must be fixed as an operational condition. The discharge expected to surpass over the crest of a Piano Key weir, Q_{pkw} is known from the hydrological analysis. The width of the spillway on which the Piano Key weir units will be installed, W, is also known. Therefore, the discharge passing through the spillway can be calculated by considering a standard sharp crested weir.

In the present study, relations of discharge efficiency with the weir height, P, and the developed length along the crest of a Piano Key weir unit, L_u , were generated for dimensionless head over weir, h/P and h/L_u, and these relations can be observed in Figure 21 and Figure 22. These figures were obtained by excluding Model 1, Model 26 and Model 29 from the total 29 models previously calculated. The reason for excluding these 3 models is that they represent extreme conditions which are not practical. Model 1 was investigated with a very short weir height, P, and subjected to a large head over weir relative to its height. Model 26 was investigated with a large ratio of P/B and Model 29 was investigated with the high ratios of L_u/W_u and P/W_u .



Figure 21: Design Phase for the Selection of the Height of a Piano Key Weir



Figure 22: Design Phase for the Selection of the Developed Length along the Crest of a Piano Key Weir Unit

As it can be seen in Figure 21 and Figure 22 above, there is an exponential relationship for both h/P and h/L_u values with the values of discharge efficiency. The discharge efficiency can be directly calculated as an input value by obtaining the ratio of the discharge expected to surpass over the weir crest of Piano Key weir and the discharge of a standard sharp crested weir with the same total width, W. Then, the weir height of a Piano Key weir, P, and the developed length along the crest of a Piano Key weir unit, L_u, can be obtained from Figure 21 and Figure 22 above with the knowledge of the head over weir, h. After obtaining both weir height, P, and the developed length along the crest of a Piano Key weir, Lu, the total number of unit Piano Key weir, N, is assumed to calculate the unit width of weir, W_u. The decision for selecting the total number of unit Piano Key weir, N, effects the Piano Key sizes and the total concrete volume of Piano Key weirs. With the same total weir width, W, and unit crest length along the crest, L_u, the length of the Piano Key weir, B, differs as the unit weir width changes, W_u. So that, the total number of Piano Key weir units, N, is also an input for this design process. Finally, all the other geometrical values can be calculated by deciding the ratios of W_i/W_o and B_i/B_o.

h (m)	W (m)	Qpkw (m³/s)	Qscw (m³/s)	r	Lu (m)	P (m)	Nu	Concrete Volume (m³)	Q com (m³/s)	Difference (%)		
							24	597.82	1201.06	-19.93		
1.80	150.00	1500.00	761.19	1.97	15.99	3.20	30	695.90	1318.12	-12.13		
							36	777.31	1374.48	-8.37		
									24	1628.86	1395.02	-7.00
1.50	150.00	1500.00	579.06	2.59	23.42	5.26	30	1829.33	1407.74	-6.15		
							36	2002.39	1462.10	-2.53		
							24	5223.16	1773.12	18.21		
1.20	150.00	1500.00	414.34	3.62	37.35	9.68	30	5726.89	1932.34	28.82		
							36	6180.19	2054.16	36.94		

Table 47: Example of the Design Process for Piano Key Weirs

An example investigation of the design process for the present study was done. It can be seen in Table 47 that 3 different cases were studied for testing the design process generated in the present study. The design discharge value was represented as Q_{pkw}, the sharp crested weir discharge value as Q_{scw}, and the discharge value found from numerical solution was represented as Q_{com}. The total width, W, and the design discharge value for Piano Key weirs, Q_{pkw}, for the design process were selected as 150 m and 1500 m^3 /s for these 3 cases with head over weirs, h, 1.80 m, 1.50 m and 1.20 m. The discharge value for a sharp crested weir, Q_{scw}, is calculated from Gharahjeh et al. (2015) and the expected discharge efficiency value, r, can be obtained. Then, the values of the weir height, P, and the developed crest length along the crest of unit Piano Key weir, L_u, can be calculated from Figure 21 and Figure 22 above. Thereafter, the total number of Piano Key weir units, N, is decided to define the unit weir width, W_u, and the length of Piano Key Weir, B. It can be concluded from Table 47 that as the total number of Piano Key weir unit, N, increases, the total concrete volume of Piano Key weir increases. However, it can be also concluded that discharge values of the computations, Q_{com}, increases as the number of Piano Key weir units, N, increases. This phenomenon is because of the increase of the total developed crest length along the crest, L, as the total number of Piano Key weir units increase.

A design process for Piano Key weir were also studied by Karaeren and Bozkuş (2015). In their study, different total heads and Wi/Wo ratios were studied to see the possible alterations in the discharge capacity.

CHAPTER 6

CONCLUSION

6.1. Summary and Conclusions

The main goal of this study is to investigate the main parameters controlling the discharge capacity of Piano Key weirs to generate a generalized design procedure for this new type of labyrinth weirs. Therefore, a sum of 29 models were generated to investigate the major dimensionless parameters which were found in the previous studies that have influence on the discharge capacity of Piano Key weirs. These major parameters are the dimensionless ratios of L_u/W_u , P/W_u , W_i/W_o and B_i/B_o .

It was confirmed that the ratios L_u/W_u and P/W_u have a strong influence on the discharge capacity of Piano Key weir. However, the ratios of W_i/W_o and B_i/B_o were found as parameters which have minor influences on the discharge capacity.

The dimensionless ratio of P/W_u was studied with 5 models. It was confirmed that as the weir height, P, increases, the discharge capacity increases. However, it was found that the rate of the increase of the discharge values decreases as the weir height, P, increases. Also, it was noted that as the weir height, P, increases, the total cost of an entire Piano Key weir unit increases with the same rate. Therefore, it is important to select the most appropriate Piano Key weir height, P, to minimize the construction cost.

The study for investigating the effect of the dimensionless ratio of L_u/W_u was studied with 10 models with varying weir heights, P. It was confirmed that the developed crest length along the Piano Key weir, L, has a strong influence on the discharge capacity of the Piano Key weir. It was found that as the ratio of L_u/W_u increases, the discharge capacity of Piano Key weir increases rapidly as expected. One important conclusion is related to the increase in the rate of the discharge for different Piano Key weir heights, P. It was seen that the increase in the rate of the discharge capacity for models with greater Piano Key weir height, P, is greater than the models with less Piano Key weir height, P, with the same ratio of L_u/W_u .

The ratio of W_i/W_o was investigated with 11 models. It was found that the relation between the discharge efficiency, r, and the ratio of W_i/W_o has no correlation at all. It was concluded that the effect of the ratio of W_i/W_o has a minor influence on the discharge capacity of Piano Key weir. It was seen that as the ratio W_i/W_o decreases, the discharge efficiency, r, increases slightly for large head over weirs, h, relatively 4%.

The investigation for understanding the effect of the ratio of B_i/B_o was studied with 8 models with varying Piano Key weir heights, P. It was confirmed that the models without downstream overhangs, B_i , showed higher discharge efficiency than the models with downstream overhangs, B_i . However, the effect of the ratio of B_i/B_o on the discharge capacity of Piano Key weirs was also found as playing minor roles.

The design process for the Piano Key weirs were studied after the investigation of the models created according to the dimensionless parameters summarized above. The head over weir, h, and the weir width of a linear weir, W, are known data. With the knowledge of the values of the head over weir, h, and the weir width, W, the discharge capacity of a linear weir intended to be replaced by a Piano Key weir can be calculated. It is also known that the value of the design discharge of the Piano Key weir is obtained by a hydrological analysis. Therefore, the discharge efficiency, r, for a certain design process can be calculated. It was found that there is an exponential relationship for the relation of the discharge efficiency, r, and the ratios of h/P and h/L_u. Therefore, Figure 21 and Figure 22 were formed to define the two of the most important geometrical components, the Piano Key weir height, P, and the developed length along the crest of unit Piano Key weir, L_u. Then, the total number of Piano Key weir to complete the design process. The design process generalized in the present study was investigated
for verification of the results. 9 models with the same weir widths, W, and varying head over weir, h, were created to be investigated. It was calculated that the range of the differences between the calculated discharge values and the design discharge values for the design processes were found between 18% to 37% for the chosen efficiency of 3.67. In the same way, the differences were found between -9% to -20% for the chosen efficiency which of 1.97. Nevertheless, the difference between the discharge swere found in the range between 2% to 8% for the discharge efficiency of 2.59. It was observed that for the efficiency values less than or equal to 2.59, as the number of Piano Key weir units, N, increases, error decreases and for larger efficiency value of 3.12, as the number of Piano Key weir units, N, increases.

As a conclusion, this example study reveals the design procedure for an assumed design discharge, head over weir, crest length of spillway. It is important to note that this study investigated the main parameters that have major influences on the discharge capacity. For future investigations, the effect of the ratio of L_u/W_u can be investigated with more models with varying weir heights and the other parameters such as parapet walls, noses built under upstream overhangs, etc.

REFERENCES

Anderson, R.M. and Tullis, B.P. 2011. Influence of Piano Key Weir Geometry on Discharge. Proc. International Workshop on Labyrinth and Piano Key Weirs, Liège, Belgium.

Anderson, R.M. and Tullis, B.P. 2011. Piano Key Weir Hydraulics. 21st Century Dam Design – Advances and Adaptations. 31stAnnual USSD Conference. San Diego, California. April 11–15, 2011. 1697–1707.

Aydın, İ., Köken, M., Şahin, A.N., Haspolat, E. 2017. Aşağı Kaleköy Dam Hydraulic Model Studies. AGUDOS Project, Consultancy, Test and Experiments.

Cicero, G.M., Guene, C., Luck, M., Pinchard, T., Lochu, A. and Brousse, P.H. 2010. Experimental Optimization of a Piano Key Weir to Increase the Spillway Capacity of the Malarce Dam. 1rst IAHR European Congress, Edinbourgh, 04–06 mai.

Erpicum, S., Nagel, V. and Laugier, F. 2011c. Piano Key Weir Design Study at Raviege dam. Labyrinth and Piano key Weirs - PKW 2011. CRC Press, London, 43–50.

Gharahjeh S., Aydın İ., Altan-Sakarya A.B., Weir velocity formulation for sharpcrested rectangular weirs. "Flow Measurement and Instrumentation", 41, (2015), p.50-56

Kabiri-Samani, A.R., Javaheri, A. 2012. Discharge Coefficients for Free and Submerged Flow over Piano Key Weirs. Journal of Hydraulic Research, 50(1), 114–120.

Karaeren, D. and Bozkuş, Z. 2015. Comparison of Performance of Labyrinth and Piano Key Weirs in Increasing the Spillway Capacity of Dams. In: E-proceedings of the 36th IAHR World Congress, Hague, The Netherlands.

Laugier, F. 2007. Design and Construction of the First Piano Key Weir (PKW) Spillway at the Goulours Dam. Int. J. Hydro. Dams 14 (5): 94–101.

Laugier, F., Vermeulen, J. and Lefebvre, V. 2013. Overview of Piano Key Weirs Experience Developed at EDF During the Past Few Years. Labyrinth and Piano Key Weirs II – PKW 2013: 213–226. CRC press: London.

Lefebvre, V., Vermeulen, J., Blancher. 2013. Influence of Geometrical Parameters on PKW Discharge with 3D numerical Analysis. Labyrinth and Piano Key Weirs - PKW 2013, CRC Press, London.

Leite Ribeiro, M., Boillat, J.L. and Schleiss, A.J. 2011b. Experimental Parametric Study for Hydraulic Design of PKWs. Labyrinth and Piano Key Weirs - PKW 2011, CRC press, London, 183–190.

Leite Ribeiro, M., Bieri, M., Boillat, J.-L., Schleiss, A.J., Singhal, G. and Sharma, N. 2012. Discharge Capacity of Piano Key Weirs. Journal of Hydraulic Engineering. 199–203.

Lempérière, F. and Ouamane, A. 2003. The Piano Keys Weir: A New Cost-Effective Solution for Spillways. The International Journal on Hydropower & Dams, Issue Four. Magalhães, A.P. 1985. Labyrinth-Weir Spillways. 15th Congress on Large Dams, ICOLD, Vol. IV,Q59, R24, pp. 395–407, Lausanne.

Machiels, O., Pirotton, M., Archambeau, P., Dewals, B. and Erpicum, S. 2014. Experimental Parametric Study and Design of Piano Key Weirs. Journal of hydraulic research, Vol. 52, No. 3.

Machiels, O., Erpicum, S., Pirotton, M., Dewals, B. and Archambeau, P. 2012d. Experimental Analysis of PKW Hydraulic Performance and Geometric Parameters Optimum. Piano Key Weir for In-Stream Storage and Dam Safety (PKWISD-2012). New Delhi, India, 97–114.

Noui, A. & Ouamane, A. 2011. Study of Optimization of the Piano Key Weir. Labyrinth and Piano Key Weirs - PKW2011, CRC Press, London, 175–182.

Ouamane, A. 2006. Hydraulic and Costs Data for Various Labyrinth Weirs. 22th Congress on Large Dams, ICOLD, Q84, Vol IV, Barcelona, Spain.

Ouamane, A. 2011. Nine Years of Study of the Piano Key Weir in the University Laboratory of Biskra "Lessons and Reflections". Proc. International Workshop on Labyrinths and Piano Key Weirs PKW 2011, CRC Press, 51–58.

Ouamane, A. & Lempérière, F. 2006. Design of a New Economic Shape of Weir. International Symposium on Dams in the Societies of the XXI Century, Barcelona, Spain.

Ouamane, A. & Lempérière, F. 2008. The Piano Key Weir is the Solution to Increase the Capacity of the Existing Spillways. Hydro 2008 Conference, Ljubljana, Slovenia.

Ouamane, A. & Lempérière, F. 2010. Study of Various Alternatives of Shape of Piano Key Weirs. HYDRO 2010 – Meeting Demands in a Changing World, Congress Centre, and Lisbon, Portugal.

Pfister, M. & Schleiss, A. 2013b. Estimation of A-type Piano Key Weir Rating Curve. Proceedings of the 2nd International Workshop on Labyrinth and Piano Key Weirs (PKW 2013), pp. 139-147. CRS Press, Taylor and Francis Group.

Pralong J., Montarros F., Blancher B. and Laugier, F. 2011. A Sensitivity Analysis of Piano Key Weirs Geometrical Parameters Based on 3D Numerical Modeling. International Workshop on Labyrinth and Piano Key Weir, Liège. Belgium Schleiss, A. J. 2011. From Labyrinth to Piano Key Weirs – A Historical Review. Proc. Intl. Conf. Labyrinth and Piano Key Weirs Liège B, 3–15. CRC Press, Boca Raton FL.

Vermeulen, J. & Faramond, L. and Gille, C. 2011. Lessons Learnt from Design and Construction of EDF First Piano Key Weirs. Workshop on Labyrinth and Piano Key Weir, Liège. Belgium